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TVC(cbch) (1,56

= 1 Tobe+u9 / 25
E. - pO 4370+ 0.0
[ o= pl -41.63 + 0.00

3000

TP delay [ns]

TVC(eb.oh)=(1, 5, 10

T 1ave+u9/25
£ - po 4419+ 0.0
[ = pL -42.08 + 0.00

3000

50 100

TP delay [ns]

TVC(cbch) (1,514

~ 1L zuse+U9 / 25
k. - pD 4390+ 0.0
[T=. p1 -40.6+ 0.0

3000

TP delay [ns]

TVC(cbch) (1,5,3)

4000 =
b

3000

2000

1000

AT 1nuy.41/e+U8/ 25
3 - po 4289+ 0.0
- pl -39.18+ 0.00

TP delay [ns]

TVC(c,b ch) (1 57

4000

3000

2000

1000

= 1 nuiL011e+09 / 25
E. - pO 4347+ 0.0
- pl -40.04 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

4000

3000

2000

1000

RIS uze+u9 125
E. - pO 4437+ 0.0
- pL -42.19+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5 15

4000

3000

2000

1000

T inuiLulse+u9 /25
k. - pO 4356+ 0.0
- pl -40.07 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

A~ 1 1oBe+U9 / 25
- - po 4328+ 0.0
- pl -42.13+ 0.00

TP delay [ns]

TVC(cbch) (16,4

- rnui319e+09 / 25
3 - pO 4398+ 0.0
- p1 42,33+ 0.00

TP delay [ns]

TVC(cbch) (1 6,8

1 nuiLgube+U9 / 25
4328+ 0.0
-39.3+ 0.0

TP delay [ns]

TVC(cbch) (1,6,12

T i 103e+U9 / 25
E. - po 4381+ 0.0
. pl -42.52 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

T 1z3e+u9/ 25
E - pO 4351+ 0.0
- pl -41.85+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

-1 nuiL UB4e+u9 / 25
k. - pO 4339+ 0.0
" p1 -40.99 + 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

~ i nuiLyroe+u9 / 25
k. - pO 4372+ 0.0
- p1 -40.04 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 6 13

Tinaizsie+u9/ 25
- - pO 4396+ 0.0
" pl -41.82+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,6,2)

A1 zuse+U9 / 25
- - po 4371+ 0.0
= pl -42.94+ 0.00

3000

TP delay [ns]

TVC(cbch) (16,6

- rnurLzyze+09 / 25
= - pO 4412+ 0.0
[T= p1 -41.29+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(1, 6, 10

Tinuy.1//e+U8 /25
E. - po 4345+ 0.0
[ = pl -39.27+ 0.00

3000

TP delay [ns]

TVC(c,b Ch) (1, 6 14

~ i 1e+u9 / 25
. - pD 4344+ 0.0
. pl -40.84 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,6,3)

4000 =

3000

2000

1000

A1 nuig 1soe+u9 / 25
E. - po 4360+ 0.0
- pl -40.99 + 0.00

TP delay [ns]

TVC(c,b ch) (1 6,7

4000 =

3000

2000

1000

-1 nui 163e+U9 / 25
k. - pO 4355+ 0.0
- p1 -39.96+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

4000

3000

2000

1000

T u/4e+u9 125
= - pO 4364+ 0.0
- pl -39.27+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 6 15

4000 =

3000

2000

1000

T nai zose+u9 / 25
b - pO 4366+ 0.0
- pl -41.36 + 0.00

M B SR Rl
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,0)

X~ 1 uaze+U9 / 25
- - po 4293+ 0.0
- pl -39.94+ 0.00

TP delay [ns]

TVC(cbch) (17,4

- 1 lsze+09 / 25
. - pO 4339+ 0.0
- p1 -41.86 + 0.00

TP delay [ns]

TVC(ebeh)=(1,7,8

© i 13pe+U9 / 25
4364+ 0.0
-41.5+ 0.0

50 00

TP delay [ns]

TVC(cbch) (1,7,12

- rnuiLguse+U9 / 25
= - po 4329+ 0.0
b pl -39.91+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,1)

A7 1 nuiLUbse+U9 / 25
E. - po 4326+ 0.0
- pl -41.16 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

=1 nui UBze+u9 / 25
- - pO 4316+ 0.0
- p1 -41.36+ 0.00

TP delay [ns]

TVCEebeh)=(1,7,9

-1 nuiLu4se+u9 / 25
b - pO 4359+ 0.0
- pl -40.65 = 0.00

TP delay [ns]

TVC(c,b Ch) (1, 7 13

Tinai1z1e+u9 /25
- - pO 4362+ 0.0
- p1 -41.3+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (1,7,2)

A~ 1L uise+U9 /25
. - po 4298+ 0.0
[ p1 -40.05 + 0.00

3000

TP delay [ns]

TVC(cbch) (17,6

= 1 Qgze+u9 / 25
. - pO 4374+ 0.0
L = pl -42.02 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

1000

T 1u4e+u9/ 25
E - po 4354+ 0.0
[ = pL -40.67 + 0.00

3000

TP delay [ns]

TVC(c,b Ch) (1, 7 14

T 1uoe+u9/ 25
= - pD 4339+ 0.0
[ = p1 -40.07 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3)

AT 1 nuiL1y3e+U9 / 25
- - po 4363+ 0.0
- pl -41.81+ 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

= rnui 3z /e+09 / 25
F - pO 4406 £ 0.0
- p1 -42.96 + 0.00

TP delay [ns]

TVC(c,b ch) (L7,

1)
~naiLy/ze+u9 /25
L. - pO 4358+ 0.0
- pL -41.32+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7 15

T nuiLulve+u9 /25
k. - pO 4338+ 0.0
- pl -40.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000
P

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0)

AT 1nun z1se+U9/ 25
b - po 4320+ 0.0
- pl -41.04+ 0.00

TP delay [ns]

TVC(cbch) (18,4

- rnun313e+09 / 25
- pO 4414 0.0
- Pl -43.78+ 0.00

50 100
TP delay [ns]

TVC(cbch) (1 8,8

1 nuiLUsge+U9 / 25
4328+ 0.0
-41.4 + 0.0

TP delay [ns]

TVC(cbch) (1,812

T use+u9 /25
E - po 4362+ 0.0
b pl -41.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,1)

AT rnuiLlize+u9 /25
- - po 4329+ 0.0
- p1 -41.98+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

=1 nui Zoze+u9 / 25
- - pO 4376+ 0.0
-~ p1 -42.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

-1 nuy, rb9e+u8 / 25
bree - pO 4350+ 0.0
- pl -40.91+ 0.00

TP delay [ns]

TVC(C, bch) (1,813

TinaiLyrze+u9 /25
- - pO 4357+ 0.0
. pl -40.18 + 0.00

TP delay [ns]

TVC(cbch) (1,8,2)

4000 =
3000
2000

1000

A7 1 nuizsye+u9/ 25
- - po 4365 0.0
F o= pl -41.94 + 0.00

TP delay [ns]

TVC(cbch) (18,6

4000 -
3000
2000

1000

-1 nurLz204e+09 / 25
- - pO 4371 0.0
[ p1 -42.43+ 0.00

TP delay [ns]

TVC(cbch) (1, 8 10

4000
ree

3000
2000

1000

©nuiLuzse+U9 / 25
4359+ 0.0
-40.8 + 0.0

TP delay [ns]

TVC(cbch) (1,814

4000

3000
2000

1000

T i 1o5e+09 / 25
k. - pD 4382+ 0.0
[ = p1 -42.17 + 0.00

TP delay [ns]

TVC(cbch) (1,8,3)

4000 =

3000

2000

1000

AT 1L zose+u9 / 25
E. - po 4387+ 0.0
- pl -42.31+ 0.00

TP delay [ns]

TVC(cbch) (18,7

4000

3000

2000

1000

-1 nui 344e+09 / 25
b - pO 4399+ 0.0
" Pl -42.88% 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

4000 =

3000

2000

1000

Snuy b/de+l}8/25
bree - p0 4329+ 0.0
" pl -40.45 + 0.00

TP delay [ns]

TVC(C, bch) (1,815

4000

3000

2000

1000

-1 nuiuyye+u9 / 25
E - pO 4364+ 0.0
- pl -40.64 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,0)

- po

A1 z1ve+U9 / 25
4345+ 0.0
-41.25+ 0.00

TP delay [ns]

TVC(cbch) (1,94

= 1 iuy Jobe+us / 25
- - pO 4321+ 0.0
- pl -40.92 + 0.00

TP delay [ns]

TVC(cbch) (1 9,8

T 112e+09 /25
C - pO 4318+ 0.0
- pl -38.69+ 0.00

TP delay [ns]

TVC(cbch) (1,9,12

~rnuiLuooe+U9 / 25
L - po 4328+ 0.0
. pl -39.38+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,1)

X

po
pL

1 nuiL 14ze+09 / 25
4334+ 0.0
-40.65 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

= 1 nu Sone+u8 / 25
. - po 4297+ 0.0
- p1 -40.89 + 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

~ i nuiLyroe+u9 / 25
ol - pO 4343+ 0.0
- pl -39.42+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 9 13

T nuy, /uBe+U8 / 25
L - pO 4274+ 0.0
- pl -38.18+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,9,2)

A"

po
pl

1 nui zo1e+u9 / 25
4360+ 0.0
-41.48 + 0.00

TP delay [ns]

TVC(cbch) (19,6

= 1O re+u9 / 25
. - pO 4344+ 0.0
F o= pl -41.69 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(1, 9, 10

T L1 roe+U9 / 25

L - po 4374+ 0.0
-

[ = pL -40.59 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,914

~ 1 nuiLuyve+U9 / 25
. - pD 4321+ 0.0
F " pl -39.99 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,3)

TonunLs1e+u9/ 25
E. pO 4418+ 0.0
- pl -43.86 + 0.00
50 100
TP delay [ns]

TVC(c,b ch) (1 9,7

= rnui O7ve+u9 / 25
E. - pO 4357+ 0.0
- pl -40.79:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

T u14e+u9 125
L. - pO 4338+ 0.0
b pl -38.65+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9 15

-1 nuiLusoe+u9 / 25
- - pO 4319+ 0.0
- p1 -38.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T rnuwLusie+U9 /25
- - pO 4321+ 0.0
- pl -40.64 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 4

= 1w 0loe+u9 / 25
L. - pO 4320+ 0.0
- pl -39.24 + 0.00

TP delay [ns]

TVC(cbch) (1,10,8

nur11e+09/25
ke 4381+ 0.0
- pl -42.51+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 12

~1nuy.p14e+U8 / 25
= - po 4330+ 0.0
. pl -38.24+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1, 10 1)

- pO

- pL

-1 nuiLu4ge+u9 / 25
4330+ 0.0
-40.52 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (1, 10 5

- nun 1z28e+09 / 25
4321+ 0.0
-39.96 + 0.00

TP delay [ns]

TVC(ebeh)=( 1, 10,9

~ i nuiLyroe+u9 / 25
4388+ 0.0
-41.16 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 13

-1 nuiLuyoe+u9 / 25
4383+ 0.0
-37.86+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(c,b ch) (1, 1

[T pl

- pO

0,2)

T rnuiLyrse+U9 / 25
4338+ 0.0
-39.79+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1
- pO
[ = pt

0,6

“ L 10/e+u9 / 25
4348+ 0.0
-40.32 + 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

- pO

©nuiLus4e+U9 / 25
4384+ 0.0
-41.36 + 0.00

[ = pL

1
100

TP delay [ns]

TVC(c,b Ch) (1, 10 14

© i 340e+09 / 25
4446+ 0.0
-40.79 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

X

- po
- pL

1 nuy.pLie+u8 /25
4302+ 0.0
-39.01+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (1, 10 7

- pO
- pl

-1 nui 150e+09 / 25
4374+ 0.0
-40.92 + 0.00

TP delay [ns]

TVC(eh.eh)=(1, 10, 11

- pO
- pl

~inaiLyl/e+u9 /25
4415+ 0.0
-43.49 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 15

T nuws, r32e+U8 / 25
4287+ 0.0
-37.63+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

A" 1L uire+u9 /25
- - po 4303 0.0
- pl -41.77 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 4

= 1 nurLuyze+u9 / 25
= - pO 4327+ 0.0
- p1 -40.54+ 0.00

TP delay [ns]

TVC(cbch) (1,11,8

1L 1obe+U9 / 25
L - pO 4380+ 0.0
- pl -42.08+ 0.00

TP delay [ns]

TVC(c,b Ch) (1,11,12

X1 uzre+u9 /25
k. - PO 4359+ 0.0
b pl -40.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
=

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,11,1)

A~ 1 nuiLus4e+U9 / 25
. - po 4323+ 0.0
- pl -41.11 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 5

=1 nui 148e+09 / 25
- - pO 4336+ 0.0
- p1 -40.95 + 0.00

TP delay [ns]

TVC(eh.eh)=(1, 11, 9

Tonalz1e+u9/25
4431% 0.0
-43.2+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 11 13

Tinui1yie+u9 /25
= - pO 4394+ 0.0
. pl -41.77 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (1,11, 2)

A- 1w L zoe+u9 /25
= - po 4384+ 0.0
[ =, pl -42.64 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 6

-1 nurL198e+09 / 25
E - pO 4382+ 0.0
[T p1 -41.41% 0.00

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

T 1ave+u9/25

= - po 4424+ 0.0
-

[ = p1 -42.09 + 0.00

50 100
TP delay [ns]

TVC(c,b Ch) (1,11, 14

X1 z1ze+09 /25
= - po 4406+ 0.0
[T= p1 -42.84+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,11,3)

A1 nuig zaye+U9 / 25
- - po 4384+ 0.0
- pl -41.57 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 7

-1 nui uaBe+u9 / 25
k. - pO 4335+ 0.0
- p1 -40.51% 0.00

TP delay [ns]

TVC(Ebeh=(1, 11, 11

T nui 115e+09 / 25

L - pO 4415+ 0.0
-

A pl -42.11 + 0.00

1 1=

TP delay [ns]

TVC(c,b Ch) (1, 11 15

T nai1z3e+u9 /25
k. - pO 4380+ 0.0
- pl -42.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 12 0)

~riuiLuyve+U9 / 25
C - pO 4298+ 0.0
- pl -39.65+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 4

-y a11e+u9 / 25
C - pO 4310+ 0.0
- p1 -40.07 + 0.00

TP delay [ns]

TVC(cbch) (1,12,8

1 nuiLuyge+U9 / 25
C - pO 4331+ 0.0
- pl -40.47 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 12

~ L usze+U9 / 25
il - po 4320+ 0.0
b pl -39.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

AT 1L ii/e+ud /25
C - po 4280+ 0.0
- pl -39.79+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 12 5

=1 nui 139e+09 / 25
4313+ 0.0
-40.3 £ 0.0

50 150
TP delay [ns]

TVCEebeh)=( 1, 12,9

T naiL1z5e+u9 / 25
ol - pO 4341+ 0.0
- pl -39.08 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 13

TinaiLus/e+u9 /25
L - pO 4303+ 0.0
b pl -40.45 + 0.00

TP delay [ns]

4000

3000
2000

1000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (1,12,2)

- po

A~ 1L usse+U9 / 25
4289+ 0.0
-39.45+ 0.00

[ = p1

TP delay

TVC(c,b ch) (1, 12 6

4000
[

- pO

[ns]

- rnunz13e+09 / 25
4338+ 0.0
-40.42 + 0.00

[ pL

TP delay

TVC(Ee b eh)=( 1, 12, 10

- pO

[ns]

~ 1 nuy,185e+U8 / 25
4320+ 0.0
-39.92 + 0.00

L= pL

TP delay

TVC(c,b Ch) (1, 12 14

[ns]

~ L usse+U9 / 25
4344+ 0.0
-41.15+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,0)

A~ 11y, roze+U8 / 25
3 - po 4306+ 0.0
- pl -39.36 + 0.00

TP delay [ns]

TVC(cbch) (24,4

- 1 184e+09 / 25
. - pO 4371+ 0.0
- pl -41.07 + 0.00

TP delay [ns]

TVC(ebch)=(2,4,8

©nuiLzise+U9 / 25
- pO 4393+ 0.0
- pl -43.57 + 0.00

50 100

TP delay [ns]

TVC(Cbch) (2, 4 12

Ty e+u8 / 25
- - po 4341 0.0
b pl -38.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,1)

A7 1 nuiLUsbe+U9 / 25
E - po 4309+ 0.0
- pl -39.08+ 0.00

TP delay [ns]

TVC(c,b ch) (2 4,5

-1 nuiL0a4e+09 / 25
. - po 4350 £ 0.0
- p1 -40.72+ 0.00

TP delay [ns]

TVC(c,b ch) (24,9

Tonan 1 u1e+u9/ 25
L - pO 4540+ 0.0
- p1 -44.27 + 0,00

TP delay [ns]

TVC(c,b Ch) (2, 4 13

-1 nuiLuyve+u9 / 25
= - pO 4366+ 0.0
- p1 -39.9+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,4,2)

A~ 1 usse+U9 / 25
= - po 4333+ 0.0
[ = pl -40.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (24,6

- rnuiL Z10e+09 / 25
E. - pO 4387+ 0.0
o= pl -42.08 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(2, 4, 10

~ i 118e+u9 / 25
E. - po 4451+ 0.0
[ = p1 -42.78+ 0.00

3000

0

TP delay [ns]

TVC(cbch) (24,14

1 nuiLuuoe+U9 / 25
= - pD 4348+ 0.0
L = pl -39.73+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,4,3)

4000 =

3000

2000

1000

A~ 1w 110e+09 / 25
3 - PO 4373+ 0.0
- pl -41.53+ 0.00

TP delay [ns]

TVC(c,b ch) (2 4,7

4000 =

3000

2000

1000

= 1 nui Tose+u9 / 25
E. - pO 4369+ 0.0
- p1 -41.36 + 0.00

TP delay [ns]

TVC(c,b ch) (2,4,

4000

3000

2000

1000

T u4be+u9 125

L - pO 4415+ 0.0
-

' pL -42.62+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 4 15

4000

3000

2000

1000

Tonanp11e+u9/25
E. - pO 4362+ 0.0
- p1 -39.75+ 0.00

TP delay [ns]



TVC(cbch) (2,5,0

4000 &

3000

2000

1000

A7 1 nui 1use+u9/ 25
3 - po 4361+ 0.0
- p1 -40.89 + 0.00

TP delay [ns]

TVC(cbch) (2,54

4000
k-,

3000

2000

1000

= 1L pye+u9 / 25
4334+ 0.0
-415+ 0.0

TP delay [ns]

TVC(cbch) (2 5,8

4000 =

3000

2000

1000

T rnuiLUs/e+U9 / 25
b - PD 4377+ 0.0
" pl -39.64 + 0.00

TP delay [ns]

TVC(cbch) (2,5,12

4000

3000

2000

1000

-1 /.41e+UB ] 25
E. - po 4285+ 0.0
- p1 -38.59+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

AT 1 nuiL1oze+U9 / 25
E - po 4357+ 0.0
- p1 -40.43 + 0.00

TP delay [ns]

TVC(c,b ch) (2 55

=1 nu Zzye+u9 / 25
E - pO 4366+ 0.0
- p1 -42.42+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

- iU goe+u8 /25
4410+ 0.0
-39.7+ 0.0

TP delay [ns]

TVC(C, bch) (2,5,13

~ 1 nuny.ooe+u8 /25
= - pO 4344+ 0.0
b pl -38.35+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,52)

A7 z1oe+U9/25
E. - po 4384+ 0.0
F " pl -41.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,56

- nur185e+09 / 25
= - pO 4353+ 0.0
[ = pL -41.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 5 10

T il 101e+09 / 25
E - po 4439+ 0.0
[ = pl -40.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,514

1 nug, 3o9e+U8 / 25
= - pD 4307+ 0.0
L " pl -38.78+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,5,3)

4000 =

3000

2000

1000

AT 1 nuiL114e+09 /25
k. - po 4369+ 0.0
- p1 41.9+ 0.0

TP delay [ns]

TVC(c,b ch) (2 57

4000 -

3000

2000

1000

-1 nu 1bse+u9 / 25
- - pO 4363+ 0.0
i p1 -41.33+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

4000

3000

2000

1000

Ty, 5/::e+u8/25

poss - pO 4371 0.0
-

- pl -38.99+ 0.00

TP delay [ns]

TVC(C, bch) (2,5,15

4000
=3

3000

2000

1000

T naiuzse+u9 / 25
4338+ 0.0
-39.1+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,0)

A~ 1 1use+U9 / 25
E - po 4320+ 0.0
- pl -40.77 + 0.00

TP delay [ns]

TVC(cbch) (26,4

i 17ze+09 /25
. - pO 4362+ 0.0
- pl -40.43 + 0.00

TP delay [ns]

TVC(cbch) (2 6,8

T rnuiLz/4e+09 / 25
- - pO 4422+ 0.0
- pl -43.37 + 0.00

TP delay [ns]

TVC(cbch) (2,6,12

T i 1n3e+U9 / 25
k. - po 4416+ 0.0
- pl -41.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1)

R~ 12z e+U9 1 25
b - po 4344+ 0.0
- p1l -40.9+ 0.0

TP delay [ns]

TVC(c,b ch) (2 6,5

=1 nuiL 204e+09 / 25
3 - pO 4368+ 0.0
- p1 -40.14 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,9

- naigzuze+u9 / 25

[ pO 4593+ 0.0
=

. p1 -46.39 + 0.00

50 100

TP delay [ns]

TVC(c,b Ch) (2, 6 13

Tonan 1 age+u9 /25
k. - pO 4416+ 0.0
- p1 -41.2+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000
3000
2000

1000

TVC(cbch) (2,6,2)

A~ 1 1ore+U9 /25
E. - po 4343+ 0.0
[ p1 -40.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

= a1 0/e+09 /25
E. - pO 4332+ 0.0
[ = pl -39.04 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(2, 6, 10

T 1.0Ye+u9/ 25
= po 4444+ 0.0
| = p1 -44.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,614

T zsse+u9 / 25
4419+ 0.0
-41.4 + 0.0

TP delay [ns]

TVC(cbch) (2,6,3)

4000 =

3000

2000

1000

A7 1 nuiL,1uve+U9 / 25
k. - po 4337+ 0.0
- pl -39.75+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,7

4000 ¢

3000

2000

1000

= 1 nui Osve+u9 / 25
E. - pO 4344+ 0.0
- p1 -38.09 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 6

4000

3000

2000

1000

T msewg 125
- - pO 4433+ 0.0
- p1 -43.28+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 6 15

4000

3000

2000

1000

-1 nai19ye+u9 / 25
k. - pO 4420+ 0.0
- pl -41.02 + 0.00

TP delay [ns]



TVC(cbch) (2,7,0)

4000 =
b,

3000

2000

1000

X~ 1w 140e+09 / 25
3 - po 4332+ 0.0
- pL -41.03+ 0.00

TP delay [ns]

TVC(cbch) (2,7,4

4000

3000

2000

1000

= 1 nurLyge+u9 / 25
4312+ 0.0
-39.5+ 0.0

50 10'0
TP delay [ns]

TVC(ebeh)=(2,7,8

4000 =

3000

2000

1000

1 nuy, ry4e+08 / 25
L - pO 4325+ 0.0
- pl -39.89 + 0.00

TP delay [ns]

TVC(cbch) (2,7,12

4000

3000

2000

1000

~ i 1uve+u9 / 25
C - po 4368+ 0.0
b pl -41.63 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
P

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

A~ i 3yre+u9 / 25
= - po 4405+ 0.0
- pl -42.41+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,5

=1 nui 1upe+u9 / 25
b - pO 4305 0.0
" pl -39.41# 0.00

TP delay [ns]

TVCEebeh)=(2,7, 9

-1 nuiLU1se+u9 / 25
4353+ 0.0
-39.4+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, 7 13

T inai z4ze+09 / 25
L. - pO 4371+ 0.0
. pl -40.73 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,7,2)

A1 So1e+U9 / 25
. - po 4398+ 0.0
L= pl -43.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,7,6

= 1w 136e+09 / 25
- - pO 4345+ 0.0
F " pl -40.14 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(2, 7, 10

T 1z1e+09 /25

C - po 4365+ 0.0
-

[ = pL -40.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,7,14

T i 1zoe+U9 / 25
E - pD 4360+ 0.0
[ = p1 -40.94 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,7,3)

4000 =

3000

2000

1000

AT 1nuiL1o/e+U9 /25
- - po 4358+ 0.0
- pl -41.51+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

4000 -

3000

2000

1000

= 1 O30e+09 / 25
. - pO 4327+ 0.0
- p1 -39.88 + 0.00

TP delay [ns]

TVC(c,b ch) (2,7,

4000 =

3000

2000

1000

Ty, 4uue+u8/25
= - pO 4339+ 0.0
- pl -39.78 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 7 15

4000

3000

2000

1000

T nui 18ye+u9 / 25
L. - pO 4389+ 0.0
- p1 -41.67 + 0.00

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,80

A1 zsre+09 /25
k. - po 4375+ 0.0
- p1 -40.47 + 0.00

TP delay [ns]

TVC(cbch) (28,4

= 1 O /e+09 / 25
k. - pO 4356+ 0.0
- p1 -39.35+ 0.00

[ C=25.41[ps/c

50 10'0
TP delay [ns]

TVC(cbch) (2 8,8

T L yroe+U9 / 25
= - pO 4356+ 0.0
- pl -40.93 + 0.00

TP delay [ns]

TVC(cbch) (2,812

T o/e+U9 /25
- - po 4410+ 0.0
b pl -41.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
P

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,81

A7 1 nuiL2zoye+u9 / 25
. - po 4403+ 0.0
- pl -41.39+ 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

“rnuiL U/ e+u9 / 25
- - pO 4344% 0.0
" p1 -38.39+ 0.00

TP delay [ns]

TVC(c,b ch) (2 8,9

~ i naiLz10e+u9 / 25
4404+ 0.0
-40.6 £ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (2, 8 13

Tinai10/e+u9 /25
k. - pO 4385+ 0.0
b p1 -41.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

T paze+u9/25
-—5 - pO 4354+ 0.0
[ = p1 -39.93 + 0.00

- C = 25.04 [pslc

1
50 100

TP delay [ns]

TVC(cbch) (2,86

- 1nuy, 701e+U8 / 25
E. - pO 4337+ 0.0
[ = pl -38.51+ 0.00

- C = 25.97 [ps/ch

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 8, 10

T Loze+u9/ 25

= - po 4363+ 0.0
-

[ = p1 -39.38 + 0.00

TP delay [ns]

TVC(cbch) (2,8 14

~ 1L 19pe+U9 / 25
=3 - pD 4414+ 0.0
[ = pl -41.27+ 0.00

TP delay [ns]

TVC(cbch) (2,8,3)

4000 =

3000

2000

1000

AT 1nuiL1/ye+u9 / 25
k. - po 4372+ 0.0
- pl -38.7 0.0

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 8,7

4000 =

3000

2000

1000

= 1 nui Ivge+u9 / 25
- - pO 4387+ 0.0
- p1 -40.35+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

4000

3000

2000

1000

T idbeﬂ]g 125
=5 - pO 4410+ 0.0
- p1 -40.55 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 8 15

4000

3000

2000

1000

- L z2ae+U9 | 25
- - pO 4437+ 0.0
- pL -42.87+ 0.00

. PR
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000
e

3000

2000

1000

4000
[eee

3000

2000

1000

TVC(cbch) (2,9,0)

A”

1 nui Usse+U9 / 25
4268+ 0.0
-39.71+ 0.00

TP delay [ns]

TVC(cbch) (2,94

pO
pL

T 14/e+09 / 25
4326+ 0.0
-42.24 + 0.00

TP delay [ns]

TVC(cbch) (2 9,8

pO
p1

© i zsze+09 / 25
4381+ 0.0
-40.91+ 0.00

TP delay [ns]

TVC(cbch) (2,9,12

TrnaiLzsre+u9 /25
4357+ 0.0
-41.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,1)

X

po
pL

L 1s3e+U9 / 25
4322+ 0.0
-42.47 + 0.00

TVC(c,b ch) (2 9,5

TP delay [ns]

-1 nui Zg3e+u9 / 25
4402+ 0.0
-43.92 + 0.00

TVC(c,b ch) (2 9,9

100

TP delay [ns]

po

pl

TinaiLy//e+u9 /25
4361+ 0.0
-40.22 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 9 13

T nuiuyle+u9 /25
4326+ 0.0
-40.87 + 0.00

P B
100

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

=
3000
2000

1000

4000

[ee
3000
2000

1000

TVC(cbch) (2,9,2)

A"

po
pl

1 nu, (58e+U8 / 25
4283+ 0.0
-39.51+ 0.00

TP delay [ns]

TVC(cbch) (29,6

pD
pl

=1 nurL0sye+u9 / 25
4318+ 0.0
-40.75 + 0.00

1
100

TP delay [ns]

TVC(eb,oh)=(2, 9, 10

pO
pl

©1nuy 312e+08 / 25
4324+ 0.0
-39.49 + 0.00

TP delay [ns]

TVC(cbch) (2,914

pD
pl

T e+u9/ 25
4337+ 0.0
-41.94 + 0.00

TP delay [ns]

TVC(cbch) (2,9,3)

X

4000 =
k.

3000

2000

1000

po
pL

1 nuiLvose+u9 / 25
4278+ 0.0
-39.43+ 0.00

TVC(c,b ch) (2 9,7

1
100

TP delay [ns]

-1 nun 343e+09 / 25
4414+ 0.0
-43.72+ 0.00

4000 =
P pU
- pL
3000
2000 -
1000 C
0 50

TVC(c,b ch) (2, 9

100

TP delay [ns]

4000 -
ks

3000

2000

1000

pO

pl

T u91e+u9 125
4359+ 0.0
-40.62 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 9 15

4000
=

3000

2000

1000

T nui140e+U9 / 25
4341+ 0.0
-41.21+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

© i 1yze+U9 / 25
- - pO 4304+ 0.0
- pl -40.79 + 0.00

TP delay [ns]

TVC(Cbch) (2, 10 4

T rnunLu3se+u9 / 25
E. - pO 4307+ 0.0
- p1 -39.59+ 0.00

TP delay [ns]

TVC(cbch) (2,10,8

T i 183e+09 / 25
- - pO 4374+ 0.0
- pl -41.37 + 0.00

TP delay [ns]

TVC(Cbch) (2, 10 12

T Luse+u9/ 25
= - po 4336+ 0.0
b pl -39.88 + 0.00

TP delay [ns]

TVC(chh) (2,10,1)

4000 -

3000

2000

1000

AT 1 nuiL1z9e+U9 / 25
C - po 4288+ 0.0
- pl -39.28+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 5

4000 =

3000

2000

1000

=1 nui 139e+09 / 25
. - po 4327+ 0.0
" p1 -39.08+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 10,9

4000

3000

2000

1000

- nuiL145e+09 / 25
= - pO 4404+ 0.0
- pl -40.76 = 0.00

TP delay [ns]

TVC(c,b ch) (2, 10 13

4000 =

3000

2000

1000

-1 nuiL1v0e+u9 / 25
- - pO 4381% 0.0
- pl -41.41+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

A- 1L uise+u9 /25
C - po 4304+ 0.0
b= pl -41.42 + 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 10 6

- 11Uy, 249e+08 / 25
E. - pO 4299+ 0.0
[T p1 -39.99+ 0.00

TP delay [ns]

TVC(e,beh)=(2, 10, 10

~1nuiLyage+09 / 25

k. - po 4385+ 0.0
-

[ = pl -41.12 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 14

T rnuiLurge+U9 / 25
E - pD 4352+ 0.0
[ = pl -40.2 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,10,3)

AT 1nuiLzzse+U9 / 25
- - po 4341+ 0.0
- pl -41.09+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 7

- rnuuzre+u9 / 25
E. - pO 4332+ 0.0
- p1 -40.29+ 0.00

50 160
TP delay [ns]

TVC(eheh)=(2,10, 11

-1 naizoze+u9 / 25
= - pO 4438+ 0.0
- pL -42.73+ 0.00

TP delay [ns]

TVC(cbch) (2, 10 15

T num.o/se+u8 / 25
E. - pO 4320+ 0.0
- p1 -38.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

A~ 1 1, yobe+Uu8 / 25
E - po 4262+ 0.0
- pl -39.77 + 0.00

TP delay [ns]

TVC(cbch) (2, 11 4

- rnun Y s¥e+U8 /25
. - pO 4286+ 0.0
- pl -39.05+ 0.00

TP delay [ns]

TVC(cbch) (211,8

1 nuiLusge+U9 / 25
L. - pO 4338+ 0.0
- p1 -41.44+ 0,00

TP delay [ns]

TVC(c,b Ch) (2,11,12

X~ 1z/e+U9 /25
£ - PO 4376+ 0.0
b pl -40.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,1)

AT nuiL183e+U9 / 25
- - po 4344+ 0.0
- pl -41.26 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 5

-1 nuiLuare+u9 / 25
b - pO 4311+ 0.0
" pl -40.27 + 0.00

TP delay [ns]

TVC(cbch) (2,11,9

T inuiL143e+09 / 25
- - pO 4408+ 0.0
- pl -41.32+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 11 13

T nuiL130e+u9 / 25
- - pO 4377+ 0.0
. pl -40.21+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2, 11 2)

1 Uy, 5u5e+U8 / 25
. - pO 4297+ 0.0
[ =) pl -40.65 + 0.00

TP delay [ns]

TVC(chh) (2, 11 6

= rnuny.53e+U8 [ 25
. - pO 4292+ 0.0
[ p1 -40.09 + 0.00

TP delay [ns]

TVC(ebch)=(2, 11, 10

X~ 1L uLse+u9 / 25
= - po 4365+ 0.0
[ = p1 -39.53+ 0.00

TP delay [ns]

TVC(c,b Ch) (2,11, 14

X~ 1 i yove+u9 / 25
= - po 4356+ 0.0
[ =) p1 -40.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
e

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,3)

AT 1nuiLz/oe+u9 / 25
- - po 4375+ 0.0
- pl -41.24+ 0.00

TP delay [ns]

TVC(CbCh) (2, 11 7

- Uy u/be+u8 / 25
4308+ 0.0
-40.1+ 0.0

50 160
TP delay [ns]

TVC(Ebeh=(2, 11, 11

- nui1y3e+u9 / 25
- - pO 4392+ 0.0
- pL -40.29  0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 15

Tonui1s1e+u9 /25

o - po 4371+ 0.0
-

a p1 -40.6 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000
P

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

©rnuiLzose+U9 / 25
- - pO 4357+ 0.0
- pl -42.48 + 0.00

TP delay [ns]

TVC(Cbch) (2, 12 4

= 1 z8ye+u9 / 25
= - pO 4395+ 0.0
- p1 -41.62:+ 0.00

TP delay [ns]

TVC(cbch) (2,12,8

1 nuiLusYe+U9 / 25
4328+ 0.0
-39.4+ 0.0

1
50 00

TP delay [ns]

TVC(Cbch) (2, 12 12

T rnuy.yy1e+u8 / 25
E. - po 4361+ 0.0
. pl -40.72 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,12,1)

K- 138 re+U9 / 25
E po 4411+ 0.0
- pl -44.09 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 5

- nun 3zze+09 / 25
b - pO 4411+ 0.0
- pl -42.14 % 0.00

TP delay [ns]

TVCEebeh)=(2, 12,9

-1 nuiLyuse+u9 / 25
- - pO 4354+ 0.0
- pl -40.39 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 12 13

T inuws,712e+U8 / 25
= - pO 4293+ 0.0
b pl -38.67 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,12,2)

A- 1w L zoe+u9 /25
. - po 4379+ 0.0
[ = pl -42.7+ 0.0

TP delay [ns]

TVC(Cbch) (2, 12 6

=1 nung 3z5e+09 / 25
E - pO 4415+ 0.0
[T p1 -42.08+ 0.00

50 100
TP delay [ns]

TVC(e b eh)=(2, 12, 10

~ 1 nuip.41 /e+U8 / 25
= - po 4267+ 0.0
[ =) p1 -38.49 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 14

~rnuiLyole+u9 / 25
= - pD 4362+ 0.0
L " pl -40.42 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

A~ 1 18e+u9 /25
E - PO 4363+ 0.0
- pl -41.58+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 7

iz e+u9 /25
k. - pO 4441+ 0.0
- p1 -43.09 + 0.00

TP delay [ns]

TVC(eheh)=(2, 12, 11

-1 nuig.a93e+u8 / 25
E. - po 4285+ 0.0
- p1 -38.73+ 0.00

TP delay [ns]

TVC(cbch) (2, 12 15

1 nu.040e+U8 / 25
- - po 4217+ 0.0
= pl -37.92+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

T rnuiLz41e+09 /25
E - pO 4367+ 0.0
- pl -42.05+ 0.00

TP delay [ns]

TVC(Cbch) (2, 13 4

=i 305e+09 / 25
4418+ 0.0
-45.8+ 0.0

TP delay [ns]

TVC(cbch) (2,13,8

~nuig1ize+u9 / 25
E. - pO 4323+ 0.0
- pl -40.62 + 0.00

TP delay [ns]

TVC(Cbch) (2, 13 12

i waiL1ilesu9 ) 25
k. - po 4364+ 0.0
. pl -41.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,13,1)

A~ 1 nuiLuuse+u9 / 25
3 - po 4332+ 0.0
- pl -41.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 13 5

-1 i 38be+u9 / 25
E pO 4437 0.0
- p1 -45.39 + 0.00

50 100
TP delay [ns]

TVCEebeN)=(2 13,9

-1 nuiLu4oe+u9 / 25
k. - pO 4356+ 0.0
- p1 -39.46 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 13 13

T nui 119e+09 / 25
b - pO 4342+ 0.0
b pl -40.67 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

=
3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,13,2)

A~ 1nuLuyle+u9 /25
= - po 4343+ 0.0
[ = pl -41.29 + 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 13 6

=1 nui15ze+09 / 25
k. - pO 4390+ 0.0
[T p1 -44.79 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 13, 10

~1nuiLyage+09 / 25
4344+ 0.0
-39.8+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, 13 14

T L zspe+U9 / 25
= - pD 4382+ 0.0
F " pl -41.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

A7 1 nuiL,2uoe+U9 / 25
- - po 4367+ 0.0
- pl -41.99+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 13 7

- 1 z3se+U9 / 25
- pO 4417+ 0.0
- pL -44.57  0.00

TP delay [ns]

TVC(ebeh)=(2,13, 11

T nuy.sb3e+u8 / 25
- - pO 4340+ 0.0
- p1 -40.75 + 0.00

TP delay [ns]

TVC(cbch) (2, 13 15

-1 nuiLu4oe+u9 / 25
k. - pO 4340+ 0.0
- pl -40.15 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 14 0)

T rnaLurse+u9 / 25
- - pO 4304+ 0.0
- pL -40.38 + 0.00

TP delay [ns]

TVC(Cbch) (2, 14 4

- nuiL0Z9e+u9 / 25
L - pO 4298+ 0.0
- p1 -41.54+ 0,00

TP delay [ns]

TVC(cbch) (2,14,8

1 nuiLugoe+U9 / 25
C - pO 4382+ 0.0
- p1 -42.65 + 0.00

TP delay [ns]

TVC(Cbch) (2, 14 12

T e+u9/ 25
L - po 4339+ 0.0
. pl -40.39 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

K- zlre+u9 /25
=3 - po 4332+ 0.0
- p1l -41.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 5

-1 nu 38ze+u9 / 25
4422+ 0.0
-43.2+ 0.0

TP delay [ns]

TVCebeh)=(2, 14,9

T nai1zze+u9 / 25
- - pO 4425+ 0.0
- p1 -42.81+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 14 13

T inui s35e+u9 / 25
L - pO 4411£ 0.0
- pl -42.84+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,14,2)

- po

A~ 1 nuiusae+u9 / 25
4291 0.0
-40.33+ 0.00

[ " p1

TP delay

TVC(Cbch) (2, 14 6

- pO

[ns]

-1 nuiLz14e+09 / 25
4366+ 0.0
-41.62 + 0.00

[ pL

TP delay

TVC(e b eh)=(2, 14,10

- pO

[ns]

© il 1zpe+U9 / 25
4401+ 0.0
-42.25+ 0.00

[ = pl

0

TP delay

TVC(c,b Ch) (2, 14 14

[ns]

1 nuy.yose+u8 / 25
4324+ 0.0
-40.83 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,14,3)

AT 1nuiLuy/e+u9 / 25
b - po 4313+ 0.0
- pl -39.41+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 7

= nuiL 188e+09 / 25
F - pO 4355+ 0.0
- pl -41.02:+ 0.00

TP delay [ns]

TVC(ehch)=(2, 14, 11

T a1 /4e+09 /25
E. - pO 4404+ 0.0
- p1 -42.59 + 0,00

TP delay [ns]

TVC(cbch) (2, 14 15

~ 1 nuy sboe+u8 / 25
L. - po 4321+ 0.0
- p1 -40.38 + 0.00

TP delay [ns]



4000

3000

2000

1000

TVC(c,b ch) (2, 1

50)

T 1ure+U9 /25
4292+ 0.0
-40.29 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 1
4000 - - pO
- pl

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

5, 4

“ LU /be+u9 / 25
4292+ 0.0
-40.04 + 0.00

TP delay [ns]

TVC(c,b, ch) (21
- pO
- p1

5,8

Tl 131e+09 / 25
4348+ 0.0
-41.65+ 0.00

TP delay [ns]

TVC(Cbch) (2, 15 12

- po
A p1

T rnuiLyusre+u9 / 25
4349+ 0.0
-40.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,15,1)

X

- po
- pl

1 ubre+u9 / 25
4302+ 0.0
-40.11 + 0.00

1
100

TP delay [ns]

TVC(ebeh)=(2 15,5

nur 1.2e+09 /25
4340+ 0.0
-39.63 + 0.00

TP delay [ns]

TVC(ebeh)=(2 15,9

-1 nuiL ybbe+u9 / 25
4391 0.0
-41.21+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 15 13

- pO
A p1

Tona1a3e+u9 /25
4347+ 0.0
-39.7+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (2,15,2)

A"

[ == pL

- po

1 nui 103e+U9 / 25
4314+ 0.0
-40.25+ 0.00

TP delay [ns]

TVC(Cbch) (2, 15 6

- pO

=1 nur z98e+09 / 25
4370+ 0.0
-41.15+ 0.00

[ pL

TP delay [ns]

TVC(cbch) (2, 15 10

1000

0

- pO

© i zzoe+09 / 25
4435+ 0.0
-42.87 + 0.00

[ = pl

TP delay [ns]

TVC(c,b Ch) (2, 15 14

[ = pl

- pD

1 nuy,sove+U8 / 25
4309+ 0.0
-39.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

X

- po
- pL

i 1ise+u9 / 25
4313+ 0.0
-40.2 + 0.0

1
100

TP delay [ns]

TVC(c,b Ch) (2, 15 7

- pO
- p1

- rnui zrye+u9 / 25
4372+ 0.0
-41.25+ 0.00

TP delay [ns]

TVC(ehch)=(2, 15, 11

- pO
- pl

~nuiLug/e+u9 / 25
4361% 0.0
-40.22 + 0.00

TP delay [ns]

TVC(cbch) (2, 15 15

~ 1 nuiusse+u9 / 25
4346+ 0.0
-37.89+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,0)

A1 zzre+09 /25
- po 4359+ 0.0
- pl -43.45+ 0.00

TP delay [ns]

TVC(cbch) (3,0,4

- 1 1g3e+u9 / 25
E - pO 4358+ 0.0
- p1 42,66 + 0.00

TP delay [ns]

TVC(cbch) (3 0,8

T nuy,147e+08 / 25
C - pO 4274+ 0.0
- pl -38.36+ 0.00

TP delay [ns]

TVC(Cbch) (3, O 12

Ty 1oe+u8 /25
- - po 4312+ 0.0
b pl -39.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1)

AT 1 nuiL2zove+u9 / 25
L. - po 4340+ 0.0
- pl -41.99 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

= nun1733e+09 / 25
E. - po 4388+ 0.0
- p1 -42.22+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

-1 nuy. gbye+u8 / 25
- - DO 4453+ 0.0
- pl -40.83 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, O 13

~inuiLus/e+u9 /25
- - pO 4336+ 0.0
- pl -40.31+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,0,2)

TnanLzoe+u9 /25
C - pO 4361+ 0.0
L= pl -42.59 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,0,6

©1nuiL445e+09 / 25
= pO 4439+ 0.0
- p1 -44.08 + 0.00

TP delay [ns]

TVC(eb,oh)=(3, 0, 10

© i 11ze+09 /25
il - po 4358+ 0.0
[ = p1 -39.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,0,14

T rnuiLusse+u9 / 25
= - pD 4343+ 0.0
[T= p1 -40.74+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,0,3)

4000 =

3000

2000

1000

A1 2zae+09 [ 25
C. - PO 4357+ 0.0
- pl -42.41+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,7

4000 =

3000

2000

1000

= nui 339e+09 / 25
- - pO 4417+ 0.0
- p1 -43.59 + 0,00

TP delay [ns]

TVC(c,b ch) (3, O

4000

3000

2000

1000

Ty, a55e+u8/25
L. - pO 4315+ 0.0
- pL -39.19+ 0.00

TP delay [ns]

TVC(c,b ch) (3, O 15

4000 =

3000

2000

1000

- 1 nuu0ae+ug / 25
L. - po 4329+ 0.0
- p1 -39.18 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0)

A1 z13e+09 /25
- - po 4304+ 0.0
- p1 42+ 0.0

TP delay [ns]

TVC(cbch) (31,4

i 1Zz3e+09 / 25
. - pO 4360+ 0.0
- p1 -41.31% 0.00

C=

TP delay [ns]

TVC(cbch) (3 1,8

T Ly rge+U9 / 25
L - pO 4314+ 0.0
- pl -40.08 + 0.00

TP delay [ns]

TVC(cbch) (31,12

~rnuiLusze+U9 / 25
L - po 4333+ 0.0
. pl -39.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1)

R~ 1L 24.5e+U9 / 25
- - po 4348+ 0.0
- pl -42.28+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

Srnur 11e+09/25
F - po 4323+ 0.0
- p1 -40.27 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

-1 nuiL 154e+09 / 25
L - pO 4383+ 0.0
- pl -41.75+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, l 13

~ 1 naiusze+u9 / 25
L - pO 4354+ 0.0
- pl -41.67 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,1,2)

A~ 1 3ove+U9 / 25
C - po 4360+ 0.0
L= pl -41.72 + 0.00

3000

TP delay [ns]

TVC(cbch) (31,6

- Inuy, 70 /e+U8 [ 25
. - pO 4304+ 0.0
[T p1 -40.62 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 1, 10

1 nuy.408e+08 / 25
il - po 4292+ 0.0
F " pl -39.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

TrnuiLyr1e+U9 /25
L - pD 4324+ 0.0
. pl -40.29 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3)

AT 1 nuiL1y3e+U9 / 25
- - po 4336+ 0.0
- pl -41.08+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

= rnun O re+09 / 25
E - pO 4342+ 0.0
- pl -41.43+ 0.00

TP delay [ns]

TVC(c,b ch) (3, l

T 155e+u9 125
il - pO 4348+ 0.0
- pL -41.13+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 1 15

T nai 1 rve+u9 /25
- - pO 4362+ 0.0
- pl -40.21+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0)

A~ 1w ziie+u9 /25
C - po 4320+ 0.0
- pl -40.72 + 0.00

TP delay [ns]

TVC(cbch) (3,24

= i 1z6e+09 / 25
E - pO 4307+ 0.0
- pl -40.35+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 2,8

T rnuy.5/ze+08 / 25
k. - pO 4316+ 0.0
- pl -40+ 0.0

TP delay [ns]

TVC(cbch) (3,212

T rnuiLuyle+u9 / 25
= - po 4339+ 0.0
b pl -40.03 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,1)

A7 1 nuiL1yse+U9 / 25
- - po 4328+ 0.0
- pl -41.73+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

-1 nui Zg3e+u9 / 25
= - pO 4372+ 0.0
- p1 -42.38+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 2,9

~nuiLUs/e+u9 / 25
k. - pO 4373+ 0.0
- p1 -41.4 + 0.0

TP delay [ns]

TVC(c,b Ch) (3, 2 13

-1 naiL z00e+u9 / 25
- - pO 4376+ 0.0
. pl -40.82 + 0.00

TP delay [ns]
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e
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TVC(cbch) (3,2,2)

A1 zzoe+09 / 25
- - po 4340+ 0.0
L= pl -42.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

= nur 150e+09 / 25
4344+ 0.0
-41.4+ 0.0

TP delay [ns]

TVC(CbCh) (3, 2 10

© il 10ve+09 / 25
= - po 4406+ 0.0
[ = p1 -43.25 + 0.00

3000

0

TP delay [ns]

TVC(cbch) (3,214

Tl s e+U9 /25
4347+ 0.0
-40.1+ 0.0

TP delay [ns]

TVC(cbch) (3,2,3)
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3000

2000

1000

AT 1 nuiLzuie+u9 /25
E. - po 4332+ 0.0
- pl -42.19+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

4000 =

3000

2000

1000

= rnui Tr3e+u9 /25
F - pO 4366+ 0.0
- p1 -40.98 + 0.00

TP delay [ns]

TVC(eheh=(3, 2,
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T 1b5e+u9 125

E. - pO 4413+ 0.0
-

. pL 424+ 00

TP delay [ns]

TVC(c,b ch) (3, 2 15
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1000

~ 1 nuy, suse+u8 / 25
= - po 4317+ 0.0
- p1 -39.49 + 0.00

TP delay [ns]
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TVC(cbch) (3,3,0)

A1y, rz3e+U8 /25
k. - po 4284+ 0.0
- pL -40.09 + 0.00

TP delay [ns]

TVC(cbch) (3,34

- rnuy 15 /e+U8 / 25
. - pO 4287+ 0.0
- pl -38.22+ 0.00

TP delay [ns]

TVC(cbch) (3 3,8

T y.yze+u8 /25
b - pO 4315+ 0.0
- pl -39.65+ 0.00

TP delay [ns]

TVC(Cbch) (3, 3 12

~ 1 nuy.goze+U8 / 25
4330+ 0.0
-40.3 + 0.0

TP delay [ns]
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1000

TVC(cbch) (3,31)

“rnun 1ase+u9 /25
- - po 4329+ 0.0
- pl -41.46 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

= 1 nu gooe+us / 25
. - po 4285+ 0.0
- p1 -39.26+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,9

-1 nuiL Uzse+u9 / 25
E - pO 4339+ 0.0
- p1 -39.31+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 3 13

T nai10ve+u9 / 25
= - pO 4365+ 0.0
b pl -40.84 + 0.00

TP delay [ns]
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1000

TVC(cbch) (3,3,2)

A~ 1L uyoe+U9 / 25
E. - po 4336+ 0.0
[ p1 -40.75 + 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

= 1 Tobe+u9 / 25
E. - pO 4370+ 0.0
[ = pl -40.49 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 3, 10

1 nuiLUBbe+U9 / 25

= - po 4381+ 0.0
-

[ = pl -40.44 £ 0.00

3000

TP delay [ns]

TVC(cbch) (3,314

~ 1 nuiLyose+u9 / 25
= - pD 4329+ 0.0
I " pl -40.55 + 0.00

3000

TP delay [ns]
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1000

TVC(cbch) (3,3,3)

AT 1 nuiLUusze+U9 / 25
k. - po 4313+ 0.0
- pl -38.87 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

1 nuy, 781e+08 / 25
- - pO 4344+ 0.0
- p1 -38.89 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 3

S UHE+U9/25

L - pO 4381+ 0.0
-

A pl -41.61+ 0.00

1 1

50 00

TP delay [ns]

TVC(c,b ch) (3, 3 15

T nui110e+u9 / 25
k. - pO 4360+ 0.0
- pl -41.28 + 0.00

PR R SRR |
50 100

TP delay [ns]
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1 nui 3ube+U9 / 25
4364+ 0.0
-42.12+ 0.00

TP delay [ns]

TVC(cbch) (34,4

pO
pL

= i 18be+u9 / 25
4370+ 0.0
-41.09 + 0.00

TP delay [ns]

TVC(cbch) (3 4,8

T 1nuy.412e+08 / 25
4305+ 0.0
-38.56 + 0.00

TP delay [ns]

TVC(Cbch) (3, 4 12
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p1

~1nuy,152e+08 / 25
4315+ 0.0
-40.75+ 0.00
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100

TP delay [ns]
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TVC(cbch) (3.4,1)

X
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pL

1 i 340e+U9 / 25
4366 + 0.0
-41.71+ 0.00

TVC(c,b ch) (3 4,5

TP delay [ns]

pO
pl

- nu zz1e+u9 / 25
4381+ 0.0
-41.91+ 0.00

TVC(c,b ch) (3 4,9

L=
100

TP delay [ns]

pO
pl

~ 1 nuy.ozye+u8 / 25
4344+ 0.0
-39.45+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 4 13

-1 naiLyuse+u9 / 25
4327+ 0.0
-41.97 + 0.00

TP delay [ns]
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4348+ 0.0
-41.04 + 0.00
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TP delay [ns]

TVC(cbch) (34,6

pD
pl

- rnunzzoe+u9 / 25
4382+ 0.0
-42.56 + 0.00

TP delay [ns]

TVC(eb,oh)=(3, 4, 10

pO
pl

T rnuiL131e+09 / 25
4380+ 0.0
-40.82 + 0.00

TP delay [ns]

TVC(cbch) (3,4,14

pD
pl

T L1 /oe+U9 / 25
4366+ 0.0
-42.02+ 0.00

TP delay [ns]

TVC(cbch) (3,4,3)
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e
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pL

1 nui,3use+U9 / 25
4376+ 0.0
-42.31+ 0.00

TVC(c,b ch) (3 4,7
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pO
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- 1nun z2z3e+09 / 25
4395+ 0.0
-41.03+ 0.00

TVC(c,b ch) (3, 4

TP delay [ns]
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=
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pO
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T uy=e+u9 125
4369+ 0.0
-39.64 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 4 15
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p1

T nuiubse+u9 / 25
4339+ 0.0
-40.8 + 0.0
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TP delay [ns]
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TVC(cbch) (3,5,0

A1 z81e+09 / 25
E - po 4357+ 0.0
- pl -40.41+ 0.00

TP delay [ns]

TVC(cbch) (3,54

= 1 0vae+u9 / 25
- - pO 4332+ 0.0
- pl -40.05+ 0.00

TP delay [ns]

TVC(cbch) (3 5,8

© i 1z8e+09 / 25
= - pO 4374+ 0.0
- pl -39.82+ 0.00

TP delay [ns]

TVC(Cbch) (3, 5 12

T rnuy.z41e+08 / 25
L - po 4373 0.0
" pl -40.62 + 0.00

TP delay [ns]
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TVC(cbch) (3,51

A~ 1 nuiL1ove+u9 / 25
k. - po 4351+ 0.0
- p1 -40.54 + 0.00

TP delay [ns]

TVC(c,b ch) (3 55

= 1nur 170ye+u9 / 25
;- - po 4323+ 0.0
- -39.29 + 0.00

[ C=25.45[psl/c

50 150
TP delay [ns]

TVC(c,b ch) (3 59

“onan1use+u9 / 25
- - pO 4397+ 0.0
- p1 -40.17 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 5 13

Tinaiz41e+09 /25
- - pO 4444+ 0.0
. pl -42.14 + 0.00

TP delay [ns]
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1000

TVC(cbch) (3,52)

TrnaLs1e+u9 /25
E - pO 4391+ 0.0
[ = pl -41.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

= 1 Qose+u9 / 25
. - pO 4326+ 0.0
F " pl -38.98 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 5, 10

~ 1 nuiLusbe+U9 / 25

k. - po 4402+ 0.0
-

[ = p1 -39.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,5,14

~1nuiLzu4e+09 / 25
k. - pD 4433+ 0.0
[ " pl -42.07 + 0.00
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TP delay [ns]
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TVC(cbch) (3,5,3)

AT 1 nuiLz1ye+u9 / 25
k. - po 4378+ 0.0
- pl -40.76 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

= 1 nui yde+u9 / 25
E - pO 4349+ 0.0
- p1 -39.11+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 5

S 14e+u9/25

L - pO 4428+ 0.0
-

- pl -39.96 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 5 15

T nai z3oe+u9 / 25
- - pO 4451+ 0.0
- pl -42.24+ 0.00

PR BT Tt
50 100

TP delay [ns]



TVC(cbch) (3,6,0)
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1 nui gole+u9 / 25
4299+ 0.0
-38.81+ 0.00

TP delay [ns]
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1000

E - pO

- pL

- i 0ye+u9 /25
4385+ 0.0
-41.87 + 0.00

TP delay [ns]

TVC(cbch) (3 6,8
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1 nuiLUbbe+U9 / 25
4368+ 0.0
-41.66 + 0.00
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4350+ 0.0
-39.96 + 0.00
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7 1uy,5u0e+U8 / 25
4290+ 0.0
-39.05+ 0.00

TVC(c,b ch) (3 6,5

1
100

TP delay [ns]

-1 nui Z1ye+u9 / 25
4426+ 0.0
-43.09 + 0.00

TVC(c,b ch) (3 6,9

TP delay [ns]

pO
pl

~naiLUs/e+u9 / 25
4399+ 0.0
-41.32+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

TinuiLurse+u9 /25
4371+ 0.0
-40.94 + 0.00

TP delay [ns]
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TVC(cbch) (3,6,2)
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4351+ 0.0
-40.31+ 0.00

TP delay [ns]

TVC(cbch) (36,6

pO
p1

-1y, 718e+U8 / 25
4377+ 0.0
-41.78 + 0.00

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

pO
pl

©nuiLus4e+U9 / 25
4378+ 0.0
-40.16 + 0.00

TP delay [ns]

TVC(cbch) (3,614

~ 1L 19pe+U9 / 25
4414+ 0.0
-41.98 + 0.00
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100
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TVC(cbch) (3,6,3)

A~ 1 nuaiLuole+u9 / 25
po 4318+ 0.0
p1 -39.31+ 0.00

TVC(c,b ch) (3 6,7

1
100

TP delay [ns]

-1 nui Zgye+u9 / 25
pO 4460% 0.0
p1 -43.84+ 0.00

TVC(c,b ch) (3, 6

TP delay [ns]

T uU4e+u9 125
pO 4406+ 0.0
p1 -41.89 + 0.00

100

TP delay [ns]

TVC(c,b ch) (3, 6 15

- 1 nuiLuZae+u9 | 25
pO 4358+ 0.0
p1 -40.36  0.00

TP delay [ns]
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1000

0

4000
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1000

TVC(cbch) (3,7,0)

X~ 1w zo4e+U8 [ 25
k. - po 4248+ 0.0
- pl -39+ 0.0

TP delay [ns]

TVC(cbch) (3,7,

- 1 lsze+09 / 25
. - pO 4349+ 0.0
- pl -40.47 + 0.00

TP delay [ns]

TVC(cbch) (3 7,8

T 119e+u9/25
. - pO 4371+ 0.0
- p1 -42.42+ 0,00

TP delay [ns]

TVC(Cbch) (3, 7 12

1 uy.4use+U8 / 25

L - po 4310 0.0
-

A p1 -38.9% 0.0

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (3,7,1)

A” 1L Lise+ud /25
E - po 4326+ 0.0
- pl -39.79+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

1 nuy 8 /oe+u8 / 25
. - po 4308+ 0.0
- p1 -39.36 + 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

T inuiLyr1e+u9 /25

L - pO 4381+ 0.0
-

a pL -41.64 % 0.00

TP delay [ns]

TVC(c,b Ch) (3, 7 13

~inuy,/u1e+u8 /25
E. - pO 4301 0.0
. pl -39.35+ 0.00

TP delay [ns]
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1000

0

4000
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1000

TVC(cbch) (3,7,2)

A1 Lse+U9 /25
= - po 4364+ 0.0
[ p1 -41.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

= 1w 1yze+u9 / 25
b - pO 4350+ 0.0
F " pl -40.87 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 7, 10

X~/ 111e+U09/ 25

L - po 4399+ 0.0
-

[ = pL -41.92 % 0.00

3000

TP delay [ns]

TVC(cbch) (3,7,14

~ 1 nuy,303e+U8 / 25
. - pD 4300+ 0.0
[ =) p1 -38.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,7,3)

4000 =

3000

2000

1000

AT 1 nuiLUsse+U9 / 25
k. - po 4315+ 0.0
- pl -39.87 + 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

4000 =

3000

2000

1000

= rnuiL 117e+09 / 25
. - pO 4354+ 0.0
- pl -40.48+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

4000
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2000

1000

T u/5e+u9 125

- - pO 4370+ 0.0
-

A pl -41.79+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7 15

4000
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1000

Tinai14/e+09/25
L. - pO 4370+ 0.0
- p1 -40.58 + 0.00

TP delay [ns]
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TVC(cbch) (3,8,0)

T 1ase+u9/ 25
- - pO 4363+ 0.0
- p1 42,54+ 0.00

TP delay [ns]

TVC(cbch) (3,84

7 e+U8 /25
. - pO 4292+ 0.0
- pl -39.41+ 0.00

TP delay [ns]

TVC(cbch) (3 8,8

T rnuiLZ1pe+U9 / 25
pO 4413+ 0.0
- pl -43.76 + 0.00

50 100

TP delay [ns]

TVC(cbch) (3,812

~rnuiLyLve+U9 / 25
= - po 4355+ 0.0
. pl -40.91+ 0.00

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (3.8,1)

R~ 1 v Zaue+u9 / 25
E. - po 4352+ 0.0
- pl -40.67 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

=1 nui Uoye+u9 / 25
. - pO 4332+ 0.0
" pL -39.88 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

-1 nuiLy4oe+u9 / 25
= - pO 4389+ 0.0
- p1 -42.54 + 0,00

TP delay [ns]

TVC(c,b Ch) (3, 8 13

~ i nuiLusle+u9 / 25
= - pO 4369+ 0.0
. pl -41.05+ 0.00

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (3,8,2)

A1 1 ve+U9 /25
e - po 4345+ 0.0
[ "= p1 -41.03+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

= 1 Q15e+09 / 25
k. - pO 4323+ 0.0
L o= pl -39.73 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 8, 10

- i zlae+U9 / 25
= - pO 4445+ 0.0
[ = pL -43.56 + 0.00

3000

0

TP delay [ns]

TVC(Cbch) (3, 8 14

Trnwpase+u9 /25
= - pD 4386+ 0.0
F " pl -41.59 + 0.00

3000

TP delay [ns]

TVC(cbch) (3.8,3)

4000 =

3000

2000

1000

A1 23ae+09 [ 25
= - PO 4388+ 0.0
- pl -42.47 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

4000 =

3000

2000

1000

= rnui 133e+09 / 25
E. - pO 4367+ 0.0
- pl -40.98+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 8

4000
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1000

Sy z::e+u9/25
k. - pO 4446+ 0.0
- p1 -43.68 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 8 15
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1000

Tonuiib/e+u9/ 25
E. - pO 4397+ 0.0
- pl -40.88 + 0.00

TP delay [ns]
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TVC(cbch) (3,9,0)

T 1a0e+u9/25
- - pO 4345+ 0.0
- pL -40.3+ 0.0

TP delay [ns]

TVC(cbch) (39,4

i Z17e+09 /25
. - pO 4361+ 0.0
- pl -40.02 + 0.00

TP delay [ns]

TVC(cbch) (3 9,8

1 nuy.4uge+U8 / 25
- - pO 4292+ 0.0
- p1 -38.94 % 0.00

TP delay [ns]

TVC(Cbch) (3, 9 12

T 1uy.pLse+u8 / 25
- - po 4343+ 0.0
- p1 -40.7 + 0.0

TP delay [ns]
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1000

TVC(cbch) (3,91

R- 1y 51 e+U8 [ 25
3 - po 4333+ 0.0
- p1l -40.5+ 0.0

TP delay [ns]

TVC(c,b ch) (3 9,5

-1 nui 2y1e+u9 / 25
E - pO 4374£ 0.0
- p1 -41.22+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,9

T naiLyrve+u9 / 25
- - pO 4366+ 0.0
- pl -40.39 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 9 13

~ 1 nuy.yb/e+u8 /25
= - pO 4346+ 0.0
b pl -41.18 + 0.00

50 100

TP delay [ns]
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1000

TVC(cbch) (3,9,2)

A1 zize+09 /25
E. - po 4384+ 0.0
[ = pl -40.9+ 0.0

3000

TP delay [ns]

TVC(cbch) (39,6

= 1 1oye+u9 / 25
. - pO 4383+ 0.0
[ = pl -41.07 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 9, 10

~ i 1e5e+09 / 25
E. - po 4396+ 0.0
[ = pL -39.87+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,914

T rnuiLz4/e+09 / 25
= - pD 4415+ 0.0
I " pl -43.22 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,9,3)

4000

3000

2000

1000

A7 1 nuiL2zooe+u9 / 25
k. - po 4383+ 0.0
- pl -39.99 + 0.00

TP delay [ns]

TVC(c,b ch) (3 9,7

4000

3000

2000

1000

= i Oz3e+u9 / 25
E. - pO 4350+ 0.0
- pl -39.54 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 9

4000

3000

2000

1000

T 1/5e+u9/25
k. - pO 4397+ 0.0
- pL -40.93+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 9 15

4000

3000

2000

1000

T nuiLusye+u9 / 25
k. - pO 4356+ 0.0
- p1 -41.6 £ 0.0

N PR B
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

© i s4e+U9 / 25
3 - po 4362+ 0.0
- p1 42+ 0.0

TP delay [ns]

TVC(cbch) (3,104

©1nuiL195e+09 / 25
- - pO 4354% 0.0
- Pl 4187+ 000

TP delay [ns]

TVC(cbch) (3, 10 8

1 nuiLus4e+U9 / 25
= - PD 4354+ 0.0
- p1 -41.49+ 0.00

TP delay [ns]

TVC(cbch) (310,12

Ty, 143e+08 / 25
= - po 4330+ 0.0
b pl -39.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (3,10,1)

A1 nuiL430e+U9 / 25
E - po 4420+ 0.0
- pl -43.81+ 0.00

TP delay [ns]

TVC(c, bch) (3,10,5

-1 nui zzoe+u9 / 25
. - po 4366+ 0.0
"~ p1 -41.96 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 10

T inuy.B3/e+u8 /25
= - DO 4369+ 0.0
- p1 -41.18 + 0.00

TP delay [ns]

TVC(cbch) (310,13

Tonan g zze+u9 /25
b - pO 4392+ 0.0
. pl -39.31+ 0.00

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (3,10,2)

1000

A~ 1nuiLuire+u9/25
k.. - po 4315+ 0.0
L= pl -41.91+ 0.00

TP delay [ns]

TVC(cbch) (3,10,6

-1, z44e+09 / 25
4388+ 0.0
-41.9+ 0.0

TP delay [ns]

TVC(eb,ch)=(3, 10, 10)

1000

0

Tnun11pe+u9 /25
= - DO 4433+ 0.0
I " pl -42.4+ 0.0

TP delay [ns]

TVC(cbch) (3.10,14)

T L usse+U9 / 25
b - pD 4353+ 0.0
L " pl -39.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,10, 3)

AT 1L zoze+u9 / 25
E. - po 4384+ 0.0
- p1 -41.27 + 0.00

TP delay [ns]

TVC(c, bch) (3,10,7

-1 nu zzge+u9 / 25
F - pO 4387+ 0.0
- p1 -43.22:+ 0.00

TP delay [ns]

TVC(cbch) (3, 10 1

- nar LE)PUQ 125

= - pO 4388+ 0.0
-

- p1 -40.6+ 0.0

TP delay [ns]

TVC(cbch) (3,10,15

T inui zole+u9 /25
- - pO 4393+ 0.0
- p1 -40.82 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3,11,0)

X~ 1w 144e+09 / 25
. - po 4322+ 0.0
- pl -41.74+ 0.00

TP delay [ns]

TVC(cbch) (3, 11 4

Ty, r5/e+U8 / 25
C - pO 4259+ 0.0
- p1 -39.51+ 0.00

TP delay [ns]

TVC(c,b, ch) (3, 11

T i 13pe+U9 / 25
- - pO 4392+ 0.0
- p1 -41.66 + 0.00

TP delay [ns]

TVC(c,b Ch) (3 11,12

X~ 1 usoe+U9 / 25
L. - PO 4342+ 0.0
b pl -40.11 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (3,11,1)

A 1wy ae+UB | 25
- - po 4271+ 0.0
- pL -39.84 £ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 11 5

~ 1 nug.g/4e+U8 / 25
L - pO 4242+ 0.0
- pl -37.09 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 11

-1 nuiLusae+u9 / 25
- pO 4378+ 0.0

-
A pl -41.21+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 11 13

T 1 nuy.v48e+U8 / 25
L - pO 4297+ 0.0
. pl -39.37+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (3,11, 2)

A1 1 /ze+09 /25
C - po 4346+ 0.0
b= pl -41.55+ 0.00

TP delay [ns]

TVC(chh) (3, 11 6

- rnunL129e+09 / 25
= - pO 4337+ 0.0
[T p1 -39.86 + 0.00

TP delay [ns]

TVC(e,Deh)=(3, 11, 10

X~ 1y, 741e+08 / 25
= - po 4348+ 0.0
[ = p1 -38.92 + 0.00

TP delay [ns]

TVC(c,b Ch) (3,11, 14

X~ 1L uare+u9 /25
E. - po 4301 0.0
. pl -38.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,11,3)

A1 nuiLuyoe+u9 / 25
- - po 4326+ 0.0
- pl -40.76 + 0.00

TP delay [ns]

TVC(CbCh) (3, 11 7

- nui 108e+u9 / 25
L - pO 4322+ 0.0
- p1 -39.26+ 0.00

TP delay [ns]

TVCED =3, 11, 11

T nui 115e+09 / 25
= - pO 4384+ 0.0
A pl -41.46 % 0.00

TP delay [ns]

TVC(c,b Ch) (3, 11 15

- iuiLuyde+ug | 25
L - po 4326+ 0.0
- p1 -39.74 % 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,0)

A~ 11y oyve+Uu8 / 25
- - po 4284+ 0.0
- pl -39.44 + 0.00

TP delay [ns]

TVC(cbch) (40,4

=i s /e+09 /25
- - pO 4370+ 0.0
- p1 -41.19 + 0.00

TP delay [ns]

TVC(cbch) (4 0,8

©1nuy.8/0e+U8 / 25
C - pO 4331+ 0.0
- pl -39.46 + 0.00

TP delay [ns]

TVC(Cbch) (4, O 12

T nuy,3352e+08 / 25
L - po 4300+ 0.0
- pl -38.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,1)

AT 1 nuiLuLse+u9 / 25
C - po 4273+ 0.0
- pl -39.5+ 0.0

TP delay [ns]

TVC(c,b ch) (4 0,5

- nui 1y1e+u9 / 25
E. - pO 4352+ 0.0
- p1 -40.48 + 0.00

TP delay [ns]

TVC(c,b ch) (4 0,9

-1 nuw, 752e+U8 / 25
L - pO 4531+ 0.0
- p1 -42.2 % 0.0

TP delay [ns]

TVC(c,b Ch) (4, O 13

T inuy.zg/e+u8 [ 25
L - pO 4298+ 0.0
- pl -37.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,2)

XL 1ie+u9 /25
= - po 4320+ 0.0
L= pl -40.13 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,0,6

- i 2z4e+09 / 25
. - pO 4386+ 0.0
L o= pl -41.11 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(4, 0, 10

~ 1 nuy.518e+U8 / 25
= - po 4389+ 0.0
[ " pl -38.85+ 0.00

3000

TP delay [ns]

TVC(Cbch) (4, 0 14

- C = 26.84 [ps/ch

1 nuig,goye+u8 / 25
= - pD 4288+ 0.0
[ = pl -37.25+ 0.00

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,3)

A 1w iuae+u9 / 25
E. - po 4341+ 0.0
- p1 -39.5:+ 0.0

TP delay [ns]

TVC(c,b ch) (4 0,7

=1 nuy 63be+U8 / 25
E. - pO 4309+ 0.0
- pl -40.19+ 0.00

TP delay [ns]

TVC(c,b ch) (4, O

T uuue+u9 125

= - pO 4381+ 0.0
-

A pl -39.41 0.00

TP delay [ns]

TVC(c,b ch) (4, O 15

[ C=27.30[ps/ch

T nurs, 725e+U8 / 25
L. - pO 4273+ 0.0
- -36.63 + 0.00

PR B R SRR B
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,0)

A~ 1L uioe+U9 /25
- - po 4313 0.0
- pl -41.82+ 0.00

TP delay [ns]

TVC(cbch) (4.1,4

- 1 11e+09 / 25
- - pO 4314+ 0.0
- p1 -40.84 + 0.00

TP delay [ns]

TVC(ebch)=(4, 1,8

T nuy 333e+08 / 25
4319+ 0.0
-39.1+ 0.0

TP delay [ns]

TVC(Cbch) (4, l 12

-l nuisilieu9/ 25
E - po 4352 0.0
- pl -39.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,1)

A1 nuy, 3ane+U8 [ 25
- - po 4266+ 0.0
- pl -40.52 + 0.00

TP delay [ns]

TVC(c,b ch) (4 1,5

= nun 1723e+09 /25
- - po 4351+ 0.0
- p1 -41.32+ 0.00

TP delay [ns]

TVC(c,b ch) (41,9

-1 nu.yuse+us / 25
- - pO 4454+ 0.0
- p1 -40.79 £ 0.00

TP delay [ns]

TVC(c,b Ch) (4, l 13

T nuiL 1o5e+u9 / 25
C. - pO 4343+ 0.0
- pl -40.48 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (4,1,2)

A1 1oze+U9 / 25
- - po 4340+ 0.0
b= pl -42.14+ 0.00

3000

TP delay [ns]

TVC(cbch) (41,6

= 1 Qobe+u9 / 25
- - pO 4327+ 0.0
F o= pl -40.57 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(4, 1, 10

~1nuy.b13e+U8 / 25
k. - po 4428+ 0.0
[ = pl -40.55 + 0.00

3000

TP delay [ns]

TVC(cbch) (41,14

Tzl e+U9 /25
C. - pD 4379+ 0.0
F " pl -41.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,1,3)

4000 =

3000

2000

1000

AT 1nuiL,14ze+09 / 25
- - po 4372+ 0.0
- pl -42.19+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,7

4000 -

3000

2000

1000

=1 nui Z3ve+u9 / 25
E - pO 4372+ 0.0
- pl -41.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (4, l

4000

3000

2000

1000

1)
- nai goze+u8 / 25
E. - pO 4310+ 0.0
- pl -37.67+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 1 15

4000 =

3000

2000

1000

T nuaiLurse+u9 /25
C. - pO 4343+ 0.0
- pl -40.38 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,0)

A~ 1L uyoe+U9 / 25
k. - po 4330+ 0.0
- pl -39.96 + 0.00

TP delay [ns]

TVC(cbch) (4,24

“anu 1.1e+09/25
- - pO 4328+ 0.0
- p1 -38.83+ 0.00

[C=25.75][psl/c

50 10'0
TP delay [ns]

TVC(ebch)=(4,2,8

1 nuig.y48e+U8 / 25
E - pD 4341 0.0
- pl -40.59 + 0.00

TP delay [ns]

TVC(Cbch) (4, 2 12

~ 1y, (59e+U8 / 25
= - po 4347+ 0.0
. pl -39.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,1)

[ C=25.31[ps/c

AT 1 nuiL1z4e+09 / 25
- - po 4338+ 0.0
- pl -39.51+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (4 2,5

-1 nuiL0a4e+09 / 25
- - po 4339+ 0.0
- p1 -37.69+ 0.00

TP delay [ns]

TVC(c,b ch) (42,9

~ 1 nub3ze+U8 / 25
L - pO 4582+ 0.0
" p1 -42.86+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 2 13

Tonae 1 11e+u9/25
- - pO 4379+ 0.0
b pl -39.12+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,2,2)

X~ 1w 134e+09 /25
E - po 4383+ 0.0
[ = pl -40.9 + 0.0

TP delay [ns]

TVC(cbch) (4,2,6

- Uy B2oe+u8 / 25
k. - pO 4323+ 0.0
[T p1 -38.31+ 0.00

- C = 26.10 [ps/ch

50 10'0
TP delay [ns]

TVC(Cbch) (4, 2 10

1 nuiLguse+U9 / 25
4430+ 0.0
-40.8 + 0.0

TP delay [ns]

TVC(cbch) (4,214

T rnuiLyroe+U9 / 25
= - pD 4343+ 0.0
[ = p1 -39.1+ 0.0

TP delay [ns]

TVC(cbch) (4,2,3)

4000

3000

2000

1000

A1 nuig 1aye+U9 / 25
3 - po 4382+ 0.0
- pl -39.24 + 0.00

TP delay [ns]

TVC(c,b ch) (4 2,7

4000

3000

2000

1000

= a0z /e+09 / 25
E. - pO 4344+ 0.0
- p1 -39.12+ 0.00

TP delay [ns]

TVC(c,b ch) (4,2,

4000

3000

2000

1000

T uU4e+u9 125
E. - pO 4405+ 0.0
- pl -40.29+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 2 15

4000

3000

2000

1000

T inuws.4/e+U8 /25
= - pO 4288+ 0.0
- pl -38.51+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,3,0

A~ 1 nui Ugse+u9 / 25
- - po 4280+ 0.0
- pl -40.21+ 0.00

TP delay [ns]

TVC(cbch) (43,4

“nun 1 zae+09 / 25
= - pO 4358+ 0.0
- p1 -41.07 + 0.00

TP delay [ns]

TVC(cbch) (4 3,8

1y gope+u8 / 25
= - pO 4314+ 0.0
- pl -38.73+ 0.00

TP delay [ns]

TVC(cbch) (4,312

T i 1oze+09 / 25
- - po 4402+ 0.0
b pl -41.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,31

AT 1 nuiLur4e+U9 / 25
= - po 4315+ 0.0
- pl -39.68+ 0.00

TP delay [ns]

TVC(c,b ch) (4 3,5

-1 nui Zzoe+u9 / 25
- - pO 4357+ 0.0
- p1 -41.97 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,9

~ 1 nu.b43e+U8 / 25
L. - pO 4295+ 0.0
- pl -37.42+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 3 13

-1 nuiL 19se+u9 / 25
k. - pO 4386+ 0.0
- pl -41.49 + 0.00

TP delay [ns]

4000

2000

1000

4000

Pt
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (4,3,2)

X~ 1 i fioe+u9/ 25
- - po 4340+ 0.0
[T p1 -40.48+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,3,6

=1 nurg 2obe+u9 / 25
4378+ 0.0
-40.8 + 0.0

TP delay [ns]

TVC(eb,oh)=(4, 3, 10

1L zove+U9 / 25
E. - po 4415+ 0.0
[ = pl -40.23 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,3 14

~ i zoge+09 / 25
E - pD 4390+ 0.0
[ = pl -40.93 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,3,3)

4000 =

3000

2000

1000

K™ rnuaiLuzre+u9 / 25
k. - po 4295+ 0.0
- pl -40.01+ 0.00

TP delay [ns]

TVC(c,b ch) (4 3,7

4000 -

3000

2000

1000

=1 nui Ugbe+u9 / 25
k. - pO 4357+ 0.0
- p1 -41.36+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (4, 3

4000

3000

2000

1000

Ty, 544e+u8/25
= - pO 4349+ 0.0
- pl -38.96 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 3 15

4000 =

3000

2000

1000

T 1nai149e+U9 / 25
E. - pO 4396+ 0.0
- pl -40.34+ 0.00

TP delay [ns]



4000
e

3000

2000

1000

4000
=1

3000

2000

1000

4000
e

3000

2000

1000

0

4000
e

3000

2000

1000

TVC(cbch) (4,4,0)

A”

po
pL

1 nu, pBBe+UB / 25
4273+ 0.0
-38.9+ 0.0

TP delay [ns]

TVC(cbch) (4 4,4

pO
pL

= 1L Ype+u9 / 25
4314+ 0.0
-39.33+ 0.00

TP delay [ns]

TVC(cbch) (4,4,8

1 nuiLyeve+U9 / 25
4343+ 0.0
-41.51+ 0.00

TP delay [ns]

TVC(Cbch) (4, 4 12

po
p1

- 1 nuy.434e+08 / 25
4297+ 0.0
-39.57 + 0.00

TP delay [ns]

4000
b,

3000

2000

1000

4000

3000

2000

1000

4000
==

3000

2000

1000

4000
e

3000

2000

1000

TVC(cbch) (4,4,1)

X

po
pL

1 nuy B14e+U8 / 25
4272+ 0.0
-38.06 + 0.00

TVC(c,b ch) (4 4,5

1
100

TP delay [ns]

-1 nui 184e+09 / 25
4351+ 0.0
-40.96 + 0.00

TVC(c,b ch) (4.4,9

TP delay [ns]

~inui141e+09 /25
4422+ 0.0
-41.77 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 4 13

-1 nuiLuyae+u9 / 25
4337+ 0.0
-40.57 + 0.00

TP delay [ns]

4000

[
3000
2000

1000

4000

Pt
3000
2000

1000

4000

3000
2000

1000

4000

e
3000
2000

1000

TVC(cbch) (4,4,2)

A"

po
pl

1 nuiLguie+u9 / 25
4284+ 0.0
-39.64 + 0.00

TP delay [ns]

TVC(Cbch) (4 4,6

pO
p1

= 1 nurLu45e+09 / 25
4338+ 0.0
-40.62 + 0.00

TP delay [ns]

TVC(cbch) (4,4,10

pO
pl

© 1 nuiLusge+U9 / 25
4384+ 0.0
-40.22 + 0.00

TP delay [ns]
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1
100

TP delay [ns]

TVC(cbch) (4,11, 14

X"

b - PO
[ = pl

1 nuiLus4e+u9 / 25
4365+ 0.0
-40.69 + 0.00

TP delay [ns]

TVC(cbch) (4, 11 3)
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T 1z1e+09/25
4369+ 0.0
-41.14+ 0.00
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TVC(cbch) (4,11,7
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pO
pl

~1nuy, 3/e+U8 / 25
4313+ 0.0
-40.25+ 0.00

TP delay [ns]

TVC(cbch) (4, 11 11
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pO
pl

-1 nuiu44e+u9 / 25
4394 £ 0.0
-40.84 + 0.00

TP delay [ns]

TVC(cbch) (4,11,15)
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p1

-1 nuy yae+u8 / 25
4336+ 0.0
-40.26 + 0.00

TP delay [ns]
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TVC(CbCh) (4, 12 0)
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:- - pO 4294+ 0.0
- pl -38.53+ 0.00

[ C =25.96 [ps/c

1
50 100

TP delay [ns]

TVC(Cbch) (4, 12 4

-1 nuy,uB1e+u8 / 25
- - pO 4297+ 0.0
- p1 -38.84+ 0.00

[C=25.75][psl/c

50 10'0
TP delay [ns]

TVC(cbch) (4,12,8

~ iy, ro8e+U8 / 25
E. - pO 4273+ 0.0
- p1 -38.43+ 0.00

TP delay [ns]

TVC(Cbch) (4, 12 12

T rnuiLusse+U9 / 25
= - po 4325+ 0.0
b pl -38.43+ 0.00

TP delay [ns]
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AT 1 nuiL134e+U9 / 25
- - po 4340+ 0.0
- pl -39.78+ 0.00

C=25.14 [psic

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (4, 12 5

-1 nui uzze+u9 / 25
k. - pO 4349:% 0.0
- p1 -39.84 + 0.00

[C=25.10[ps/c

50 150
TP delay [ns]

TVCebeh)=(4, 12,9

T nu.z18e+u8 / 25
- - pO 4297+ 0.0
- pl -37.34+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 12 13

~ 1 nuy. syze+u8 / 25
- - pO 4294+ 0.0
- pl -38.82+ 0.00
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TVC(CbCh) (4, 12 2)

Ty e+u9 /25
. - pO 4343+ 0.0
[ =) pl -40.94 + 0.00

TP delay [ns]

TVC(Cbch) (4, 12 6

“ LU /oe+u9 / 25
E - pO 4346+ 0.0
[T p1 -40.42 + 0.00

TP delay [ns]

TVC(epeh)=(4, 12, 10

Ty 3r3e+U8 /25

= - po 4303+ 0.0
-

[ o= pL -37.92+ 0.00

TP delay [ns]

TVC(CbCh) (4, 12 14

T rnuiLuz1e+u9 / 25
. - pD 4338+ 0.0
I ™ pl -40.25+ 0.00
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A™rnuaiLugre+u9 / 25
E. - po 4328+ 0.0
- pl -40.89 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 12 7

- nui 116e+09 / 25
k. - pO 4371£ 0.0
- p1 -40.03+ 0.00

TP delay [ns]

TVC(ehch)=(4, 12, 11

T nui143e+09 / 25

. - pO 4401+ 0.0
-

- pl -39.11 + 0.00

TP delay [ns]

TVC(cbch) (4, 12 15

T nus 3 /0e+u8 / 25
- - pO 4288+ 0.0
- pl -38.57 + 0.00

TP delay [ns]



TVC(CbCh) (4, 13 0)

4000 =
b

3000

2000

1000

T 1zve+U9 / 25
4332+ 0.0
-40.61+ 0.00

TP delay [ns]

TVC(Cbch) (4, 13 4
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= rnun135e+09 / 25
4354+ 0.0
-41.48 + 0.00

TP delay [ns]

TVC(cbch) (4,13,8
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©nuiLguze+U9 / 25
4336+ 0.0
-39.96 + 0.00

TP delay [ns]

TVC(Cbch) (4, 13 12
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1000

~rnuiLuage+09 / 25
4362+ 0.0
-40.65+ 0.00
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TVC(chh) (4,13,1)
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- po
- pl

L, 10ze+U9 / 25
4355+ 0.0
-40.86 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 13 5

E. - pO

) pl

S nun11ze+09 /25
4363+ 0.0
-41.53+ 0.00

TP delay [ns]

TVC(c,b ch) (4,13,9

~ i nuiL1ble+u9 / 25
4402+ 0.0
-41.26 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 13 13
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A p1

-1 114e+09 / 25
4362+ 0.0
-40.29 + 0.00
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[T= p1

3,2)

1 nu zz9e+U9 / 25
4371+ 0.0
-40.78 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 1
- pO
[ = pl

3,6

-1 nui 1o5e+09 / 25
4355+ 0.0
-40.08 + 0.00

TP delay [ns]

TVC(epeh)=(4, 13, 10

0

T L1 r5e+09 / 25
4453+ 0.0
-42.91+ 0.00

TP delay [ns]

TVC(CbCh) (4, 13 14

E - pD
F " pl

~ i ve+u9 / 25
4381+ 0.0
-40.42 + 0.00
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X
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- pL

1L usse+u9 / 25
4320+ 0.0
-38.97 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 13 7

- pO
- p1

=1 i Usee+u9 / 25
4338+ 0.0
-40.29 + 0.00

TP delay [ns]

TVC(eheh)=(4, 13, 11

- pO
- pl

-1 nuiLuzae+u9 / 25
4382+ 0.0
-40.95 + 0.00

TP delay [ns]

TVC(cbch) (4, 13 15

T nai14ze+09 / 25
4395+ 0.0
-41.47 + 0.00

TP delay [ns]
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TVC(CbCh) (4, 14 0)

TonanLzse+u9 /25
3 - po 4375+ 0.0
- pl -41.31+ 0.00

TP delay [ns]

TVC(Cbch) (4, 14 4

= UL OZoe+u9 / 25
- - pO 4318+ 0.0
- pl -40.55+ 0.00

TP delay [ns]

TVC(ebch)=(4, 14,8

1 nuy, r5pe+U8 / 25
- - pO 4317+ 0.0
- pl -39.99+ 0.00

TP delay [ns]

TVC(Cbch) (4, 14 12

T 1nuy,334e+08 / 25
- - po 4339+ 0.0
b pl -40.09 + 0.00
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TVC(chh) (4,14,1)

AT 1 nuiL1s5e+U9 / 25
E - po 4363+ 0.0
- pl -41.25+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 14 5

=1 nui z4ve+09 / 25
E. - pO 4379+ 0.0
- p1 -41.43 0.00

TP delay [ns]

TVC(c,b ch) (4, 14 9

-1 nuiLy3ve+u9 / 25
k. - pO 4410+ 0.0
- pl -40.87 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 14 13

“inuyule+u8 /25
k. - pO 4336+ 0.0
- pl -41.07 + 0.00
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TVC(CbCh) (4, 14 2)

© i 1se+u9 / 25
E. - pO 4370+ 0.0
[T Pl -40.46+ 0.00

TP delay [ns]

TVC(Cbch) (4, 14 6

- UL U84e+U9 / 25
b - pO 4354+ 0.0
[T p1 -41.12 + 0.00

TP delay [ns]

TVC(epeh)=(4, 14,10

©nuiLusze+U9 / 25

E - po 4402+ 0.0
-

[ = p1 -40.56 + 0.00

TP delay [ns]

TVC(CbCh) (4, 14 14

-1 nuiLyove+u9 / 25
= - pD 4362+ 0.0
[T= pL -40.21+ 0.00

TP delay [ns]
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TVC(Cbch) (4,14,3)

A~ 1w 113e+u9 /25
k. - PO 4391+ 0.0
- pl -41.93+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 14 7

-1 nuy.alse+u8 / 25
E. - pO 4313+ 0.0
- pl -39.64 + 0.00

TP delay [ns]

TVC(c, bch) (4, 14 11

- nuiusse+u9 / 25

k. - pO 4400+ 0.0
-

A pl -40.89+ 0.00

TP delay [ns]

TVC(cbch) (4, 14 15

- i 1o4e+U9 / 25
k. - po 4390+ 0.0
- pL -40.89+ 0.00

TP delay [ns]
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TVC(CbCh) (4, 15 0)

© i 1uze+U9 / 25
=- - pO 4381+ 0.0
- p1 -39.59 + 0.00

[ C=25.26 [ps/c

1
50 100

TP delay [ns]

TVC(cbch) (4,154

=i z9ze+09 / 25
E. - pO 4390 0.0
- p1 -41.85+ 0.00

TP delay [ns]

TVC(cbch) (4, 15 8

T 14/e+09 /25
E - pD 4363+ 0.0
- pl -42.24+ 0.00

TP delay [ns]

TVC(cbch) (4,15, 12

T 14ze+09 / 25
£ - po 4410+ 0.0
b pl -41.35+ 0.00
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TVC(chh) (4,15,1)

AT 1 nuiL1ioe+u9 /25
—- - po 4373+ 0.0
- pl -39.02+ 0.00

TP delay [ns]

TVC(c, bch) (4,155

- nur 153e+09 / 25
E. - pO 4363+ 0.0
- p1 -42.02:+ 0.00

TP delay [ns]

TVC(c, bch) (4, 15 9

T rnuy.5/ge+u8 / 25
bee - pO 4397 0.0
" pL -40.83  0.00

TP delay [ns]

TVC(C, bch) (415,13

T inuiLus/e+u9 /25
k. - pO 4406+ 0.0
b pl -41.63+ 0.00

TP delay [ns]
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K™ z1oe+U9/25
. - po 4412+ 0.0
[ = pl -41.74 + 0.00

TP delay [ns]

TVC(cbch) (4,156

= a1 /8e+u9 / 25
k.. - pD 4376+ 0.0
L o= pl -41.89 + 0.00

TP delay [ns]

TVC(cbch) (4, 15 10

T Ly r3e+u9 / 25
£ - po 4420+ 0.0
I " pl -40.92 + 0.00

TP delay [ns]

TVC(cbch) (4,15, 14

~ 1 nuiL1spe+U9 / 25
k. - pD 4419+ 0.0
[ = p1 -41.15+ 0.00
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TVC(Cbch) (4,15,3)

AT 1L usse+u9 / 25
- - po 4413+ 0.0
- p1 -40.32 + 0.00

TP delay [ns]

TVC(c, bch) (4,157

- 1nuiurye+u9 / 25
4355+ 0.0
-40.8 + 0.0

50 1(;0
TP delay [ns]

TVC(ehch)=(4 15, 11

- ruy, /bbe+u8 / 25
bree - p0 4382 0.0
" pl -40.87 + 0.00

TP delay [ns]

TVC(cbch) (4,15,15

- uase+u9 / 25
ree - pO 4377+ 0.0
- pL -40.11+ 0.00

TP delay [ns]
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1 nu zoze+U9 / 25
4377+ 0.0
-41.78 + 0.00

TP delay [ns]

TVC(cbch) (50,4

- pO
- p1

= nui19ve+09 / 25
4393+ 0.0
-41.17 + 0.00

TP delay [ns]

TVC(cbch) (5 0,8

- pO
- p1

i 1uve+U9 / 25
4416+ 0.0
-42.27 + 0.00

TP delay [ns]

TVC(c,b ch) (5, O
- po
- p1

12

~rnuiLuyse+u9 / 25
4420+ 0.0
-40.99 + 0.00
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TVC(cbch) (5,0,1)
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- pl

ruune+u9 /25
4370+ 0.0
-41.31+ 0.00

TP delay [ns]

TVC(c,b ch) (5 0,5

S nun11ze+09 /25
4392+ 0.0
-41.98 + 0.00

TP delay [ns]

TVC(c,b ch) (5 0,9

pO
pl

~nairguse+u8 / 25
4785+ 0.0
-46.76 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, O 13

~ 1 naiLpuse+u9 / 25
4361+ 0.0
-40.55+ 0.00

TP delay [ns]
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[T pl

1 nuiLUroe+u9 / 25
4354+ 0.0
-40.74 + 0.00

TP delay [ns]

TVC(cbch) (50,6

k. - pO
[T p1

- rnuiL14/e+09 / 25
4396+ 0.0
-41.34 + 0.00

TP delay [ns]

TVC(c,b, ch) (5, 0

- F’O
- pl

10

T 1nuy.473e+08 / 25
4525+ 0.0
-41.78 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 0
- pD
L= pl

14

T rze+09 /25
4398+ 0.0
-40.99 + 0.00

TP delay [ns]
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TVC(cbch) (5,0,3)

1o 1 r4e+09 /25
4411+ 0.0
-41.27 + 0.00
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4000 =
e
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“nue 1ze+09 /25
4425+ 0.0
-41.95+ 0.00
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-1 nuig uyae+u9 / 25
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-40.53 + 0.00
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TVC(cbch) (5.1,0)

“ona11e+U9/ 25
- - pO 4341 0.0
- pl -41.37 + 0.00

TP delay [ns]

TVC(cbch) (51,4

S iz/e+u9 /25
- - pO 4329+ 0.0
- p1 -39.25+ 0.00

C =25.48 [ps/c

50 10'0
TP delay [ns]

TVC(cbch) (5 18

T 11e+09/25
~ - pO 4355+ 0.0
- pl -40.61+ 0.00

TP delay [ns]

TVC(cbch) (51,12

~rnuiLu4se+U9 / 25
L - po 4326+ 0.0
- p1 -38.43+ 0.00

TP delay [ns]
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TVC(cbch) (5.1,1)

A~ 1 nuiL1o4e+U9 / 25
E. - po 4338+ 0.0
- pl -40.18 + 0.00

TP delay [ns]

TVC(c,b ch) (5 1,5

-1 nuiL UB4e+u9 / 25
k. - pO 4331+ 0.0
L p1 -38.45+ 0.00

TP delay [ns]

TVC(c,b ch) (5 1,9

-1 nuiL Ubse+u9 / 25
k. - pO 4362+ 0.0
- p1 -41% 0.0

TP delay [ns]

TVC(c,b Ch) (5, l 13

-1 nuiLuzye+u9 / 25
= - pO 4333+ 0.0
b pl -39.02+ 0.00

TP delay [ns]
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A1 310e+09 / 25
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[ = pl -42.01+ 0.00
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TP delay [ns]

TVC(cbch) (5.1,6

:‘C =27.00 [ps/ch

=1 nurLuBbe+u9 / 25
k. - pO 4331 0.0
[T= p1 -37.03+ 0.00

3000

50 10'0
TP delay [ns]

TVC(eb,oh)=(5, 1, 10

T nuiLus1e+u9 / 25
E. - po 4374+ 0.0
[ = pl -39.72+ 0.00

3000

TP delay [ns]

TVC(cbch) (51,14

T 1nuy.45/e+U8 / 25
= - pD 4290+ 0.0
L= pl -37.95+ 0.00
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A~ L 11ie+u9/ 25
E. - PO 4345+ 0.0
- pl -40.17 + 0.00

TP delay [ns]

TVC(c,b ch) (5 1,7

-1 nui Us3e+u9 / 25
k. - pO 4322+ 0.0
- p1 -37.22:+ 0.00

[ C =26.86 [ps/ch

50 160
TP delay [ns]

TVC(c,b ch) (5, l

S 111e+\)9 125
E. - pO 4380+ 0.0
- p1 -40.71+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 1 15

- i z74e+09 / 25
- - po 4379+ 0.0
- pL -39.58+ 0.00

TP delay [ns]
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- - po 4313+ 0.0
- pl -41.16 + 0.00

TP delay [ns]

TVC(cbch) (524

- UL Z39e+09 / 25
. - pO 4363+ 0.0
- pl -41.69 + 0.00

TP delay [ns]

TVC(eb,oh)=(5, 2,8

T L yroe+U9 / 25
. - pO 4337+ 0.0
- pl -40.45 + 0.00

TP delay [ns]

TVC(cbch) (5,2, 12

~ i zose+U9 / 25
E - po 4397+ 0.0
b pl -42.39+ 0.00
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E - po 4337+ 0.0
- pl -41.6 + 0.0

TP delay [ns]

TVC(c,b ch) (5 2,5

-1 nui U3be+u9 / 25
4320+ 0.0
-40.5 + 0.0

50 150
TP delay [ns]

TVC(eb,oh)=(5, 2, 9

“onan1uze+u9/ 25
. - pO 4388+ 0.0
- pL -41.33+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 2 13

T nui zgbe+u9 / 25
il - pO 4394+ 0.0
. pl -41.73+ 0.00

TP delay [ns]
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E - po 4323+ 0.0
b= pl -41.51+ 0.00
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TP delay [ns]

TVC(cbch) (5.2,6

= 1w 139e+09 / 25
b - pO 4348+ 0.0
[ = p1 -41.69+ 0.00

3000

TP delay [ns]

TVC(CbCh) (5, 2 10

© 1 nuy g35e+U8 / 25

L - po 4338+ 0.0
-

[ =, pl -40.46 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.2 14

- 1L us4e+U9 / 25
E - pD 4327+ 0.0
[ = pl -40.65 + 0.00
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TP delay [ns]



TVC(CbCh) (5,10,0)
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X~ 11y, 340e+08 / 25
C - po 4238+ 0.0
- pl -39.34+ 0.00

TP delay [ns]

TVC(Cbch) (5, 10 4
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- UL Zo8e+u9 / 25
b - pO 4367+ 0.0
- pl -40.29 + 0.00

TP delay [ns]

TVC(eb,oh)=(5, 10,8
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1000

0

© 1 nuiLzyse+U9 / 25
= - pO 4399+ 0.0
- p1 -41.82 + 0.00

0

TP delay [ns]

TVC(Cbch) (5, 10 12
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©1nuy,sz9e+U8 / 25

= - po 4345+ 0.0
-

- pl -40.96 + 0.00

TP delay [ns]
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TVC(chh) (5,10,1)

AT 1 nuiLz3ve+u9 / 25
- - po 4346+ 0.0
- pl -40.26 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 10 5

=/ nui101e+u9 / 25
- - pO 4329+ 0.0
L p1 -39.67 + 0.00

TP delay [ns]

TVC(eb.oh)=(5, 10,9

-1 naiL 30ze+u9 / 25
- - pO 4428+ 0.0
- pl -41.97 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 10 13

~inaiLurse+u9 / 25

k. - pO 4367+ 0.0
-

- p1 -40.63 + 0.00

TP delay [ns]
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TVC(CbCh) (5,10,2)

AL usle+U9 / 25
. - po 4293+ 0.0
= p1 -39.4+ 0.0

TP delay [ns]

TVC(Cbch) (5, 10 6

=i z97e+09 / 25
. - pO 4394+ 0.0
L= pl -41.84 + 0.00

50 100
TP delay [ns]

TVC(e,b,ch)=(5, 10, 10

0

©nuiLuzoe+U9 / 25
= - po 4382+ 0.0
[ = p1 -42.03+ 0.00

TP delay [ns]

TVC(CbCh) (5, 10 14

T 1z3e+09 / 25
= - pD 4386+ 0.0
[ = p1 -41.07 + 0.00

TP delay [ns]
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TVC(Cbch) (5,10,3)

AT 1nuiLzo/e+u9 /25
L. - po 4353+ 0.0
- pl -40.47 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 10 7

= 1 nuiL 158e+09 / 25
- - pO 4366+ 0.0
- p1 -40.51+ 0.00

TP delay [ns]

TVC(Cbch) (5, 10 11

- nuiysle+u9 / 25
= - pO 4374+ 0.0
- p1 -40.46 + 0.00

TP delay [ns]

TVC(cbch) (5, 10 15

T nai14ze+09 / 25

= - pO 4361 0.0
-

A p1 405+ 0.0

TP delay [ns]
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TVC(CbCh) (5,11,0)

A” 11wy yae+u8 / 25
E - po 4273% 0.0
- pl -37.93+ 0.00

TP delay [ns]

TVC(cbch) (5, 11 4

- UL 199e+U9 / 25
- - pO 4383+ 0.0
- pl -40.59 + 0.00

TP delay [ns]

TVC(cbch) (5, 11 8

T rnaiLzz1e+09 / 25
b - pO 4395+ 0.0
- p1 -42.14+ 0,00

TP delay [ns]

TVC(c,b Ch) (5, 11 12

1 nug,uyve+u8 / 25
= - po 4294+ 0.0
. pl -40.56 + 0.00

50 100

TP delay [ns]
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TVC(CbCh) (5,11,1)

A~ 1 huiLUbbe+U9 / 25
k. - po 4294+ 0.0
- pl -37.88+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (5, 11 5

~ 1 nuy, 745e+U8 / 25
k. - po 4316+ 0.0
- p1 -40.38+ 0.00

TP delay [ns]

TVC(cbch) (5, 11 9

-1 nuiLy4se+u9 / 25
. - pO 4375+ 0.0
- pL -40.19 % 0.00

TP delay [ns]

TVC(c,b ch) (5, 11 13

-1 nuiLu1ye+u9 / 25
b - pO 4327+ 0.0
b pl -41.09 + 0.00

PR BT Rl
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- C = 26.52 [ps/ch

A~ nunLurse+U9 /25
k. - po 4307+ 0.0
[ = pl -37.71+ 0.00

1
50 100

TP delay [ns]

TVC(chh) (5, 11 6

=i z92e+09 / 25
£ - pO 4422+ 0.0
L o= pl -42.49 + 0.00

TP delay [ns]

TVC(e,beh)=(5, 11, 10

X~ 1y, r31e+08 / 25
4353+ 0.0
-39.4 + 0.0

TP delay [ns]

TVC(c,b Ch) (5,11, 14

X~ 1L uase+U9 / 25
= - po 4338+ 0.0
L " pl -39.91+ 0.00

TP delay [ns]
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AT 1 nuiLU/Ye+U9 / 25
- - po 4309+ 0.0
- pl -37.64+ 0.00

1 1
50 100

TP delay [ns]

TVC(CbCh) (5, 11 7

= nuiL1/4e+09 / 25
E. - pO 4380+ 0.0
- pl -41.34 % 0.00

TP delay [ns]

TVCEDCN)=(5, 11, 11

~nuiLy/oe+u9 / 25

= - pO 4386+ 0.0
-

A pl -40.64 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 11 15

T nuiL 1uoe+u9 / 25
k. - pO 4350+ 0.0
- pl -40.01+ 0.00

TP delay [ns]
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'-_ p1

2,0)

T 11se+u9/25
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= 1L z4pe+09 / 25
4371+ 0.0
-42.25+ 0.00

TP delay [ns]

TVC(c,b, ch) (5, 1
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2,8

© i 184e+09 / 25
4347+ 0.0
-41.19+ 0.00

%

1
100

TP delay [ns]

TVC(Cbch) (5, 12 12
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~ i 1ove+U9 / 25
4365+ 0.0
-41.13+ 0.00
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1 nun 1 1be+u9 / 25
4352+ 0.0
-40.57 + 0.00
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TP delay [ns]

TVC(c,b Ch) (5, 12 5

=1 Ui Ubbe+u9 / 25
4325+ 0.0
-41.08 + 0.00

100

TP delay [ns]

TVC(eb.oh)=(5, 12,9

- po
- pl

-1 nuiLyuze+u9 / 25
4311+ 0.0
-40.97 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 12 13

- pO
A p1

TinaiLyrze+u9 /25
4306+ 0.0
-40.04 + 0.00

TP delay [ns]
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[ = pL

- po

AT 1L ugoe+U9 / 25
4294+ 0.0
-38.29 + 0.00

TP delay

TVC(Cbch) (5, 12 6

- pO

[ns]

- nun103e+09 / 25
4346+ 0.0
-41.17 + 0.00

[ pL

TP delay

TVC(cbch) (5, 12 10

1000

- pO

[ns]

T rnuiLyrve+U9 / 25
4363+ 0.0
-40.72 + 0.00

F o= pl

TP delay

TVC(CbCh) (5, 12 14

- pD

[ns]

T L use+u9/ 25
4311+ 0.0
-40.05+ 0.00
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- pL

1w Lure+u9 /25
4296 + 0.0
-39.92+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (5, 12 7

- nun zige+u9 / 25
4366+ 0.0
-41.7 + 0.0

L=
100

TP delay [ns]

TVC(Cbch) (5, 12 11

- pO
- pl

-1 nuiLuzoe+u9 / 25
4351% 0.0
-40.05 + 0.00

TP delay [ns]

TVC(cbch) (5, 12 15

T nai z1se+u9 / 25
4359+ 0.0
-40.43+ 0.00

TP delay [ns]
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TVC(CbCh) (5, 13 0)

T 1zse+u9/25
3 - pO 4434+ 0.0
- pl -42.29+ 0.00

TP delay [ns]

TVC(Cbch) (5, 13 4

=i z93e+09 / 25
3 - pO 4397+ 0.0
- p1 -41.68+ 0.00

TP delay [ns]

TVC(eb.oh)=(5, 13,8

T 1u4e+u9 /25
g - pD 4374+ 0.0
- p1 -38.47  0.00

TP delay [ns]

TVC(Cbch) (5, 13 12

~ 1L usde+U9 / 25
k. - po 4343+ 0.0
- pl -39.53+ 0.00
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TVC(chh) (5,13,1)

AT 1 nuiLszoe+u9 / 25
3 - po 4435+ 0.0
- pl -42.26 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 13 5

=1 nui 33%e+09 / 25
3 - pO 4388+ 0.0
- p1 -41.37+ 0.00

TP delay [ns]

TVC(eb.oh)=(5, 13,9

-1 nuiLysye+u9 / 25
L - pO 4416+ 0.0
- pl -40.36 = 0.00

TP delay [ns]

TVC(c,b ch) (5, 13 13

~onan L use+u9 / 25
k. - pO 4350+ 0.0
- pl -39.75+ 0.00

TP delay [ns]
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TVC(CbCh) (5,13,2)

A~ 1 nui s34e+09 / 25
. - po 4469+ 0.0
[ = pl -42.99 + 0.00

3000

TP delay [ns]

TVC(Cbch) (5, 13 6

- rnunL4zze+09 / 25
E - pO 4443 0.0
[T= p1 -42.96 + 0.00

TP delay [ns]

TVC(e,b,ch)=(5, 13, 10

T rnuiLu4se+u9 / 25
L. - po 4439+ 0.0
: - pl -39.85+ 0.00

1
50 100

TP delay [ns]

TVC(CbCh) (5, 13 14

T 1sse+U9 / 25
E - pD 4383+ 0.0
[ = pl -40.33+ 0.00

TP delay [ns]
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TVC(Cbch) (5,13,3)

AT 1nuiL$31e+U9 / 25
- - po 4475+ 0.0
- pl -42+ 0.0

TP delay [ns]

TVC(c,b Ch) (5, 13 7

- 1 nurL402e+09 / 25
E. - pO 4447+ 0.0
- pL -42.95 + 0.00

TP delay [ns]

TVC(Cbch) (5, 13 11

~ 1 nuiLyroe+u9 / 25
4448 £ 0.0
-39.8+ 0.0

TP delay [ns]

TVC(cbch) (5, 13 15

T nai zooe+u9 / 25
k. - pO 4408+ 0.0
- p1 -40.6 £ 0.0

TP delay [ns]
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—- - pO 4419+ 0.0
- pl -41.94+ 0.00

TP delay [ns]

TVC(Cbch) (5, 14 4

C - pO

- nunLu3ge+u9 / 25
2 4353+ 0.0
- p1 -40.71% 0.00

TP delay [ns]

TVC(cbch) (5, 14 8

T Lule+u9/25
L. - pO 4308+ 0.0
- pl -39.75+ 0.00

TP delay [ns]

TVC(Cbch) (5, 14 12

T zsze+09 / 25
k. - po 4462+ 0.0
b pl -42.92 + 0.00
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TVC(chh) (5,14,1)

K- 03 re+u9 /25
E - po 4348+ 0.0
- pl -40.18 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 14 5

=1 nui z201e+09 / 25
4391+ 0.0
-41.9 + 0.0

TP delay [ns]

TVC(c, bch) (5, 14 9

~ 1 nuy.ay3e+u8 / 25
= - pO 4335+ 0.0
- pl -39.11+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 14 13

T inai1z5e+u9 / 25
- - pO 4411£ 0.0
- p1 -41.2+ 0.0

TP delay [ns]
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A~ 1w 1goe+U9 / 25
E. - po 4387+ 0.0
[ = pl -40.48 + 0.00

TP delay [ns]

TVC(Cbch) (5, 14 6

-1 nui 1o5e+09 / 25
4391+ 0.0
-40.8 + 0.0

TP delay [ns]

TVC(e.b,ch)=(5, 14, 10

~1nuy, 139e+U8 / 25

= - po 4327+ 0.0
-

[ = p1 -38.87  0.00

TP delay [ns]

TVC(CbCh) (5, 14 14

T ze+u9 /25
= - pD 4400+ 0.0
L " pl -41.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
=

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,14,3)

A- 1w L lse+u9 /25
k. - po 4387+ 0.0
- pL -39.85 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 14 7

- Ui 156e+09 / 25
k. - pO 4403+ 0.0
- p1 -40.76 + 0.00

TP delay [ns]

TVC(e.beh)=(5, 14, 11

“onai1z/e+u9 /25
4381+ 0.0
-39.5+ 0.0

TP delay [ns]

TVC(cbch) (5, 14 15

Tinany.zze+u8 /25

- - po 4344+ 0.0
-

L pl -40+ 0.0

TP delay [ns]
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TVC(CbCh) (5, 15 0)

T 1z/e+u9/25
E - pO 4350+ 0.0
- pl -42.24+ 0.00

TP delay [ns]

TVC(Cbch) (5, 15 4

=L uB3e+u9 / 25
C - pO 4310+ 0.0
- p1 -40.33+ 0.00

TP delay [ns]

TVC(cbch) (5, 15 8

T rnuiLzse+U9 / 25
- pO 4384+ 0.0
- p1 -41,51+ 0,00

TP delay [ns]

TVC(Cbch) (5, 15 12

T i zoe+U9 / 25
E. - po 4352+ 0.0
b pl -39.36 + 0.00

TP delay [ns]
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TVC(chh) (5,15,1)

A7 1 nuiLzoze+u9 / 25
- - po 4332+ 0.0
- pl -41.36 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 15 5

=1 nui Usbe+u9 / 25
k. - pO 4322+ 0.0
- p1 -40.32+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

-1 naiL174e+09 / 25
= - pO 4399+ 0.0
- p1 -42.46 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 15 13

Tonan g zoe+u9 /25
- - pO 4386+ 0.0
. pl -41.41+ 0.00

TP delay [ns]
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TVC(CbCh) (5,15,2)

AT 1 suze+U9 / 25
k. - po 4379+ 0.0
[ = pl -41.97 + 0.00

TP delay [ns]

TVC(Cbch) (5, 15 6

- i1 zZ8e+u9 /25
= - pO 4379+ 0.0
[T= p1 -42.07 + 0.00

TP delay [ns]

TVC(e,b,ch)=(5, 15, 10

©1nuiL19pe+U9 / 25
L - po 4403+ 0.0
F " pl -41.83+ 0.00

TP delay [ns]

TVC(CbCh) (5, 15 14

T rnuiLgsse+u9 / 25
= - pD 4450+ 0.0
[ = pl -43.55 + 0.00

TP delay [ns]
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TVC(Cbch) (5,15,3)

K™ 1L io1e+U9 /25
k. - po 4347+ 0.0
- pl -40.72+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 15 7

= rnuiL125e+09 / 25
E. - pO 4343+ 0.0
- pl -40.66 + 0.00

TP delay [ns]

TVC(e,beh)=(5, 15, 11

T nuiLyroe+u9 / 25

= - pO 4369+ 0.0
-

) p1 -40.99 + 0.00

TP delay [ns]

TVC(cbch) (5, 15 15

Tonan 1 age+u9 /25
- - pO 4355+ 0.0
- pl -40.09 + 0.00

TP delay [ns]
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TVC(cbch) (6,0,0)

A~ 1L urse+u9 /25
E - po 4269+ 0.0
- -38.51+ 0.00

[ C=25.97 [ps/c
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50 100

TP delay [ns]

TVC(cbch) (60,4

- L Zoye+u9 / 25
- - pO 4331+ 0.0
- p1 -39.02 + 0.00

[ C=25.63[ps/c

50 10'0
TP delay [ns]

TVC(cbch) (6 0,8

~ i 144e+09 / 25
b - pO 4301+ 0.0
- pl -40.66 + 0.00

TP delay [ns]

TVC(cbch) (6,0,12

~ i 1upe+U9 / 25
e - po 4340+ 0.0
- p1 -40.08 + 0.00
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TVC(cbch) (6,0,1)

AT 1nuiLzz1e+U9 /25
= - po 4307+ 0.0
- pl -40.4 + 0.0

TP delay [ns]

TVC(c,b ch) (6 0,5

-1 nui Zole+u9 / 25
- - pO 4346+ 0.0
- p1 -40.75 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

T nuiL1s1e+u9 /25
b - pO 4328+ 0.0
- p1 -41.4 % 0.0

TP delay [ns]

TVC(c,b Ch) (6, O 13

Tonan 1 age+u9 /25
E - pO 4337+ 0.0
- p1 -40.47 + 0.00
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E - po 4305+ 0.0
[ p1 -39.65 + 0.00
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TP delay [ns]

TVC(cbch) (60,6

= rnun 171 7e+09 /25
= - pO 4339+ 0.0
[T p1 -40.71+ 0.00

3000

TP delay [ns]

TVC(eb,ch)=(6, 0, 10

T il 101e+09 / 25
E. - po 4345+ 0.0
[T p1 -40.64 + 0.00

3000

TP delay [ns]

TVC(c,b Ch) (6, 0 14

Trnwpase+u9 /25
C - pD 4342+ 0.0
[F= pL -40.01+ 0.00
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TP delay [ns]

TVC(cbch) (6,0,3)
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AT 1 nuiL,2use+u9 / 25
E. - po 4341+ 0.0
- pl -40.64 + 0.00

TP delay [ns]
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= 1 nui Ivge+u9 / 25
E. - pO 4345+ 0.0
- p1 -39.59 + 0.00
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TVC(c,b ch) (6, O
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T ubse+u9 125
L. - pO 4353+ 0.0
- pl -40.47 + 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15
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T naiuzse+u9 / 25
- - pO 4318+ 0.0
- pl -40.39 + 0.00
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TVC(cbch) (6,1,0)

A~ 1 zyse+U9 / 25
E - po 4359+ 0.0
- pl -42.44 + 0.00

TP delay [ns]

TVC(cbch) (6.1,4

-1y, 720e+U8 / 25
C - pO 4267+ 0.0
- p1 -38.34+ 0.00

C =26.08 [ps/c

50 10'0
TP delay [ns]

TVC(cbch) (6 18

T nuy,322e+08 / 25
L - pO 4293+ 0.0
- pl -38.81+ 0.00

TP delay [ns]

TVC(Cbch) (6, l 12

1 g, gE0e+U8 / 25
L - po 4290+ 0.0
b pl -39.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1)

A7 1 nuiL154e+U9 / 25
- - po 4339+ 0.0
- pl -42.52 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

=1 nui 2u1e+u9 / 25
L - pO 4302+ 0.0
- p1 -40.08+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

~ 1 nuy.B3Ye+u8 / 25
- - pO 4371% 0.0
. pl -39.68 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, l 13

T inai1u1e+u9 /25
L - pO 4323+ 0.0
. pl -40.23+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,1,2)

A~ 1 zooe+U9 / 25
- - po 4390+ 0.0
F o= pl -43.43+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

=1 nurLuBBe+u9 / 25
C - pO 4326+ 0.0
[ pL -40.83 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

~nuiLyyle+u9 / 25
= - po 4388+ 0.0
[ = p1 -40.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

~ L ugse+U9 / 25
. - pD 4314+ 0.0
F pl -39.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,1,3)

4000 =

3000

2000

1000

AL zrye+u9 / 25
k. - po 4369+ 0.0
- pl -42.88+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

4000 -

3000

2000

1000

-1 nui 139e+09 / 25
L. - pO 4344% 0.0
- p1 -39.71% 0.00

TP delay [ns]

TVC(c,b ch) (6, l

4000

3000

2000

1000

T uzue+u9 125

L - pO 4386+ 0.0
-

A pl -40.31+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

4000 =

3000

2000

1000

T nan 1 use+u9 /25
L - po 4324+ 0.0
- pl -40.34+ 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6.2,0)

T gzze+u9/25
E - pO 4376+ 0.0
- pl -42.94+ 0.00

TP delay [ns]

TVC(cbch) (62,4

= 1w 139e+u9 / 25
- - pO 4355+ 0.0
- pl -40.77 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 2,8

Truw1a/e+u9/25
k. - pO 4360+ 0.0
- pl -39.81+ 0.00

TP delay [ns]

TVC(Cbch) (6, 2 12

~ i 1ve+u9 / 25
= - po 4363+ 0.0
. pl -39.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000
=

3000

2000

1000

TVC(cbch) (6,2,1)

AT 1 nuiLzsse+u9 / 25
E - po 4372+ 0.0
- pl -41.23+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

-1 nui 120e+09 / 25
E. - pO 4351+ 0.0
L p1 -40.96 + 0.00

TP delay [ns]

TVC(eb,oh)=(6, 2,9

-1 nuiL 1z20e+u9 / 25
k. - pO 4438+ 0.0
- pl -42.51+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 2 13

Tinaizo/e+u9 /25
4421+ 0.0
-42.1+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

3000
2000

1000

4000

2000

1000

TVC(cbch) (6,2,2)

X~ 1 i fiaer09 /25
k. - po 4340+ 0.0
[T Pl -40.14 0.00

3000

TP delay [ns]

TVC(cbch) (62,6

= 1 149e+09 / 25
- - pO 4374+ 0.0
[ = pl -40.62 + 0.00

3000

TP delay [ns]

TVC(CbCh) (6, 2 10

1 nuiLguse+U9 / 25
k. - po 4380+ 0.0
[ = pl -40.48 + 0.00

TP delay [ns]

TVC(cbch) (6,2 14

T rnuiLyo/e+u9 / 25
= - pD 4346+ 0.0
I pl -39.97 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3)

A~ 1 i ipae+u9 / 25
b - PO 4348+ 0.0
- pl -41.37 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

= 1 nui Tuse+u9 / 25
- - pO 4386+ 0.0
- p1 -41.11 + 0.00

TP delay [ns]

TVC(ehCh)=(6, 2,

RIS z44e+u9 125
E. - pO 4450+ 0.0
- pL -42.21% 0.00

TP delay [ns]

TVC(c,b ch) (6, 2 15

T nai14ze+09 / 25
k. - pO 4384+ 0.0
- pl -40.67 + 0.00

TP delay [ns]



TVC(cbch) (6,3,0)

4000
b

3000

2000

1000

T Lule+u9/25
4292+ 0.0
-41.1+ 0.0

TP delay [ns]

TVC(cbch) (63,4

4000 =

3000

2000

1000

- i 1z3e+09 / 25
pO 4361+ 0.0
p1 42,42+ 0.00

TP delay [ns]

TVC(cbch) (6 3,8

4000

3000

2000

1000

il 1yve+U9 / 25
PD 4398+ 0.0
p1 -41.22+ 0,00

TP delay [ns]

TVC(cbch) (6,312

4000

3000

2000

1000

~11uy,pyse+u8 / 25
pO 4324+ 0.0
pl -39.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

R~ 1L Zaze+U9 [ 25
= - po 4354+ 0.0
- pl -42.08 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

=1 nui 335e+09 / 25
3 - pO 4425+ 0.0
- p1 -42.07 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,9

-1 nuy.zyse+u8 / 25
b - DO 4363+ 0.0
" pl -39.95+ 0.00

TP delay [ns]

TVC(C, bch) (6,313

Tinany. sze+u8 [ 25
b - pO 4297+ 0.0
b pl -39.04 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

TVC(cbch) (6,3,2)

A7 1 nuisuie+u9/ 25
= - po 4386+ 0.0
[ = pl -42.14 + 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

-1 nurL034e+09 / 25
£ - pO 4354+ 0.0
[T p1 -40.78 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 3 10

© 1 nuiLulge+U9 / 25

___ - DO 4396+ 0.0
-

[ " p1 -40.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,3 14

1000

T rnuiLzs1e+U9 / 25
= - pD 4405+ 0.0
[ = p1 -41.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,3,3)

4000 =
Pl

3000

2000

1000

AT 1 nuiLzaoe+U9 / 25
po 4391+ 0.0
p1 -41.14+ 0.00

TVC(c,b ch) (6 3,7

1
100

TP delay [ns]

4000
P

3000

2000

1000

=1 nui UgYe+u9 / 25
pO 4372+ 0.0
p1 -40.43+ 0.00

TVC(c,b ch) (6, 3

TP delay [ns]

4000

3000

2000

1000

Ty, buze+u8l25
pO 4369+ 0.0
p1 -40.17 + 0.00

TP delay [ns]

TVC(C, bch) (63,15

4000
=

3000

2000

1000

T inai1/ae+U9 /25
po 4402+ 0.0
p1 -41.59 + 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

A~ 1 1sse+U9 / 25
3 - po 4348+ 0.0
- pl -41.05+ 0.00

TP delay [ns]

TVC(cbch) (64,4

= 1 04ze+09 / 25
- - pO 4315+ 0.0
- pl -38.66 + 0.00

TP delay [ns]

TVC(cbch) (6 4,8

© i 1oze+U9 / 25
C - pO 4327+ 0.0
- pl -40.34 + 0.00

TP delay [ns]

TVC(Cbch) (6, 4 12

T 1, 3o3e+U8 / 25
= - po 4282+ 0.0
. pl -37.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT 1 nuiLsuze+u9 / 25
E - po 4352+ 0.0
- pl -40.8 + 0.0

TP delay [ns]

TVC(c,b ch) (6 4,5

= 1nur 1 0be+u9 / 25
- - po 4297+ 0.0
- p1 -39.28+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

“inuy.y/ie+u8/ 25
b - pO 4330+ 0.0
- pl -39.77 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 4 13

T nui zope+u9 / 25
- - pO 4374+ 0.0
- pl -39.63+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

e
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

A1 1sre+09 /25
;- - po 4318+ 0.0
L= pl -40.88 + 0.00

TP delay [ns]

TVC(cbch) (64,6

- nuiL19ge+u9 / 25
4339+ 0.0
-40.3+ 0.0

TP delay [ns]

TVC(eb,ch)=(6, 4, 10

T il 101e+09 / 25
= - po 4382+ 0.0
[ = pl -39.66 + 0.00

TP delay [ns]

TVC(cbch) (64,14

-1 nuiLyose+U9 / 25
E. - pD 4341+ 0.0
[ = -38.06 + 0.00

- C = 26.28 [ps/ch

P B B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3)

A7 1 nuiL2zyoe+U9 / 25
3 - po 4372+ 0.0
- pl -40.94 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

= 1nuiL 2uze+09 / 25
- - pO 4350+ 0.0
- p1 -39.79 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

T, 991e+u8l25
E. - pO 4311+ 0.0
- pL -37.86+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 4 15

-1 nuy.yuoe+u8 / 25
k. - pO 4323+ 0.0
- pl -38.79 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,50)

Ty sr4e+U8 / 25
3 - po 4305 0.0
- pL -40.1+ 0.0

TP delay [ns]

TVC(cbch) (65,4

- 1y 95ze+U8 [ 25
- - pO 4247+ 0.0
- p1 -37.72+ 0.00

C =26.51[ps/c

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

~ 1y, ysse+u8 / 25
E - pO 4323+ 0.0
- pl -40.18 + 0.00

TP delay [ns]

TVC(cbch) (65,12

-1 nuiLyoye+u9 / 25
L - po 4339+ 0.0
- p1 -40.14+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1)

A~ 1 05 re+U9 / 25
3 - po 4326+ 0.0
- pl -40.16 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

=1 nuiL Ugbe+u9 / 25
- - pO 4319+ 0.0
- p1 -38.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 59

T nuiL 1s3e+u9 / 25
b - pO 4361+ 0.0
- pl -40.14 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

Tonae 1 11e+u9/25
= - pO 4372+ 0.0
b pl -40.77 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,5,2)

A1 153e+09 / 25
. - po 4362+ 0.0
[ = pl -41.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,56

- C = 26.21 [ps/ch

- 1nuy 514e+08 / 25
k. - pO 4294+ 0.0
L= pl -38.16 + 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(6, 5, 10

-1 nuiLuzve+U9 / 25
= - po 4363+ 0.0
[ = p1 -40.23 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,5,14

1 nuy,psYe+u8 / 25
= - pD 4321+ 0.0
I pl -39.42+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3)

AT 1 nuiL2use+u9 / 25
% - po 4354+ 0.0
- pl -39.62+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

= 1 nui yde+u9 / 25
E. - pO 4334+ 0.0
- p1 -39.61+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

T uzye+u9 125

= - pO 4374+ 0.0
-

A pl -40.18 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 5 15

-1 nai zove+u9 / 25
k. - pO 4386+ 0.0
- pl -41.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

X~ 1 134e+09 / 25
E - po 4325+ 0.0
- pl -40.06 + 0.00

TP delay [ns]

TVC(cbch) (66,4

- 1w 119e+09/ 25
. - pO 4299+ 0.0
- p1 -39.49 + 0.00

TP delay [ns]

TVC(cbch) (6 6,8

T Ll /pe+U9 / 25
E - pO 4360+ 0.0
- pl -40.52 + 0.00

TP delay [ns]

TVC(cbch) (6,6,12

T i 1use+u9 / 25
= - po 4365+ 0.0
. pl -40.52 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1)

AT 1 nuiL185e+U9 / 25
- - po 4351+ 0.0
- pl -40.74 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

= nun zzze+u9 / 25
E. - pO 4360+ 0.0
- p1 -41.38+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,9

- naiLUsse+u9 / 25
k. - pO 4418+ 0.0
- p1 -40+ 0.0

TP delay [ns]

TVC(c,b Ch) (6, 6 13

T naiLusse+u9 / 25
L. - pO 4341+ 0.0
b pl -40.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,6,2)

X~ 11 Zzobe+U9 / 25
= - po 4367+ 0.0
[ = pl -40.59 + 0.00

3000

TP delay [ns]

TVC(cbch) (66,6

= 1 Og1e+u9 / 25
= - pO 4323+ 0.0
[ p1 -40.16 + 0.00

3000

TP delay [ns]

TVC(eb,ch)=(6, 6, 10

1000

T a4 /e+U9 / 25
E. - po 4406+ 0.0
[ = pL -40.91: 0.00

3000

TP delay [ns]

TVC(cbch) (6,6,14

T 1nuy, ru1e+U8 / 25
= - pD 4318+ 0.0
I pl -39.72+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.6,3)

4000 =

3000

2000

1000

“onun L zoe+u9 /25
3 - pO 4374+ 0.0
- pl -40.44 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,7

4000 =

3000

2000

1000

= 1 nui Ov3e+u9 / 25
F - pO 4319+ 0.0
- pl -40.41 0.00

TP delay [ns]

TVC(e.Dch)=(6, 6, 1

4000 =

3000

2000

1000

1y, /b‘Je+U8/25
4352+ 0.0
-39.4+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 6 15

4000

3000

2000

1000

T nuws144e+U8 / 25
k. - pO 4319+ 0.0
- pl -40.27 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0

A~ 1 nui zae+09 / 25
E - po 4349+ 0.0
- pl -40.56 + 0.00

TP delay [ns]

TVC(cbch) (67,4

= i Qr5e+u9 / 25
;- - pO 4326+ 0.0
- p1 -39.32+ 0.00

[ C=25.43[ps/c

50 10'0
TP delay [ns]

TVC(cbch) (6 7,8

©1nuiLuave+U9 / 25
L - pO 4340+ 0.0
- pl -40.73 + 0.00

TP delay [ns]

TVC(Cbch) (6, 7 12

T 11ye+u9/ 25
- - po 4410+ 0.0
b pl -41.53 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

AT 1w 1z3e+U9 / 25
E - po 4328+ 0.0
- pl -41.33+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

- nui 183e+09 / 25
E. - pO 4359+ 0.0
- p1 -40.21% 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

T a1 /8e+u9 / 25
- - pO 4408+ 0.0
- p1 -41.84 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 7 13

T nui 1s4e+U9 / 25
k. - pO 4390+ 0.0
- pl -42.18+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

TVC(cbch) (6,7,2)

A1 uzse+U9 / 25
= - po 4321+ 0.0
[ =) pl -40.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (67,6

- iUy 54ze+08 [ 25
E. - pO 4319+ 0.0
F " pl -39.29 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(6, 7, 10

0

T rnuiLu4le+u9 / 25
L - po 4367+ 0.0
[ = pL -41.72 % 0.00

3000

TP delay [ns]

TVC(cbch) (67,14

1000

S 1lze+u9/ 25
£ - pD 4393+ 0.0
[ = pl -41.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,7,3)

4000 =

3000

2000

1000

AT 1nuiLUs/e+u9 /25
k. - po 4316+ 0.0
- pl -39.83 + 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

4000 =

3000

2000

1000

= inuiy 8/ e+u8 [ 25
E. - pO 4256+ 0.0
-\ p1 -37.93+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 7

4000 =

3000

2000

1000

T 14ue+u9 125

L - pO 4422+ 0.0
-

' pL -42.74+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 7 15

4000

3000

2000

1000

T nuiL 1o5e+U9 / 25
k. - pO 4406+ 0.0
- pl -41.69 + 0.00

PR BT Tt
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0)

A~ 1L usve+U9 / 25
E - po 4308 0.0
- pl -39.52+ 0.00

TP delay [ns]

TVC(cbch) (6,84

= 1 1sge+u9 / 25
- - pO 4399+ 0.0
- p1 -43.91+ 0.00

TP delay [ns]

TVC(cbch) (6 8,8

T i 145e+09 / 25
k. - pO 4362+ 0.0
- pl -39.96 + 0.00

TP delay [ns]

TVC(cbch) (6,812

T rnuiLu4le+u9 / 25
E. - po 4331 0.0
- p1 -40.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,1)

A~ 1L 1aze+U9 / 25
E - po 4320+ 0.0
- pl -39.52+ 0.00

[ C=25.30[ps/c

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

“nu1z/e+09 /25
k. - pO 4378+ 0.0
- p1 -42.54+ 0.00

TP delay [ns]

TVC(c,b ch) (6 8,9

-1 nuy.1voe+u8 / 25
k. - pO 4291+ 0.0
- pl -38.41+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 8 13

-1 nuiLybye+u9 / 25
= - pO 4356+ 0.0
b pl -40.79 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,8,2)

A1 Lse+U9 /25
E. - po 4344+ 0.0
[T pl -39.82 0.00

3000

TP delay [ns]

TVC(cbch) (68,6

- 1L Z4pe+09 / 25
- - pO 4429+ 0.0
[T p1 -43.61+ 0.00

3000

TP delay [ns]

TVC(eb,ch)=(6, 8, 10

~ iy s11e+u8 / 25
E. - po 4337+ 0.0
[= Pl -30.34%0.00

3000

TP delay [ns]

TVC(cbch) (6,8, 14

~ 1 nuy.po/e+U8 / 25
= - pD 4322+ 0.0
I pl -38.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (6.83)

4000 =

3000

2000

1000

T Luse+u9/ 25
- - pO 4325+ 0.0
- pl -40.3+ 0.0

TP delay [ns]

TVC(c,b ch) (6 8,7

4000 &

3000

2000

1000

= rnui Iz5e+09 / 25
k. - pO 4404 £ 0.0
- p1 -42.77+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 8

4000 =

3000

2000

1000

Ty, zzme+u8/25

. - pO 4353+ 0.0
-

- pl -39.21+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 8 15

4000

3000

2000

1000

Tonae paie+09 /25
E. - pO 4376+ 0.0
- pl -40.01+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0

A1 z8re+09 /25
:- - po 4374+ 0.0
- pl -41.81+ 0.00

TP delay [ns]

TVC(cbch) (69,4

= i 136e+u9 / 25
k. - pO 4362+ 0.0
- p1 -39.84 + 0.00

[C=25.10[ps/c

50 10'0
TP delay [ns]

TVC(cbch) (6 9,8

T 1aze+u9/25
k. - pO 4342+ 0.0
- p1 -39.64 + 0.00

TP delay [ns]

TVC(cbch) (6,9,12

- rnuiLguse+U9 / 25
- - po 4340+ 0.0
b pl -38.34+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,91

AT 1 nuiL1z5e+U9 / 25
. - po 4348+ 0.0
- pl -40.56 + 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

“rnui1b/e+09 / 25
- - pO 4385+ 0.0
L p1 -40.67 + 0.00

TP delay [ns]

TVC(c,b ch) (6 9,9

T naizsze+u9 / 25
E. - pO 4402+ 0.0
- p1 -41.17 + 0,00

TP delay [ns]

TVC(c,b Ch) (6, 9 13

Tinuy,5/e+U8 /25
- - pO 4327+ 0.0
- p1 -39.5+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

TVC(cbch) (6,9,2)

A~ 1 nui 3oae+u9 / 25
E. - po 4419+ 0.0
[ = pl -43.21+ 0.00
- - 1

3000

TP delay [ns]

TVC(cbch) (69,6

= i 0z/e+09 / 25
E. - pO 4368+ 0.0
[ = pl -40.24 + 0.00

3000

TP delay [ns]

TVC(eb,ch)=(6, 9, 10

T 10/e+09 / 25
£ - po 4389+ 0.0
[ = pL -40.91: 0.00

3000

TP delay [ns]

TVC(cbch) (6,9,14

1000

~ i 19ve+U9 / 25
£ - pD 4408+ 0.0
L " pl -41.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,9,3)

4000 =

3000

2000

1000

AT 1 nuiL,135e+U9 / 25
3 - po 4368+ 0.0
- pl -41.95+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

4000 2

3000

2000

1000

= rnui Iv1e+09 /25
k. - pO 4419+ 0.0
- pl -41.78:+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 9

4000 =

3000

2000

1000

T usyewg 125

. - pO 4371£ 0.0
-

A pL -40.66  0.00

TP delay [ns]

TVC(c,b ch) (6, 9 15

4000

3000

2000

1000

T nan 1 uoe+u9 / 25
k. - pO 4393+ 0.0
- pl -41.47 + 0.00

PR BT T T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b ch) (6, 1

- po

0,0)

T 1r4e+09 /25
4346+ 0.0
-40.59 + 0.00

- pL

TP delay [ns]

TVC(c,b ch) (6, 1
E. - PO
- pl

0,4

- rnun103e+09 / 25
4331+ 0.0
-41.47 + 0.00

TP delay [ns]

TVC(c,b, ch) (6, 1
- pO
- p1

0,8

1 nuiLusge+U9 / 25
4326+ 0.0
-41.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10 12

- po
A p1

T 1ane+u9/25
4375+ 0.0
-40.34 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,10,1)

X

- po
- pl

i 139e+U9 / 25
4344+ 0.0
-41.04 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 10 5

“rnuiLu/e+u9 / 25
4329+ 0.0
-40.82 + 0.00

TP delay [ns]

TVC(eb.oh)=(6, 10,9

- po
- pL

T nuiL133e+u9 / 25
4367+ 0.0
-40.92 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 10 13)

- pO
A p1

S le+u9/25
4318+ 0.0
-39.63+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

A"

- po

[T pl

1w zz1e+09 / 25
4376+ 0.0
-41.49 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 10 6

- pO
- p1

- rnuiz1ze+u9 / 25
4381+ 0.0
-42.03 + 0.00

TP delay [ns]

TVC(e,b,ch)=(6, 10, 10

1000

0

© il 159e+09 / 25
4392+ 0.0
-42.01+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 10 14

S pl

- pD

1 nuiLyobe+U9 / 25
4350+ 0.0
-39.99+ 0.00

TP delay [ns]

TVC(Cbch) (6,10,3)

X

4000 =
k.

3000

2000

1000

- po
- pL

1 zuse+U9 / 25
4359+ 0.0
-42.11 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 10 7

4000 =

3000

2000

1000

k. - pO

- pl

=1 nui zole+u9 / 25
4403+ 0.0
-41.76 + 0.00

TP delay [ns]

TVC(Cbch) (6, 10 11

4000

3000

2000

1000

- pO
- pl

T nai/ze+u9 /25
4405+ 0.0
-42.2+ 0.0

TP delay [ns]

TVC(cbch) (6, 10 15

4000
=

3000

2000

1000

- 1o 1uae+u9 / 25
4363+ 0.0
-40.34 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

A~ 1L usse+u9 / 25
£ - PO 4337+ 0.0
- -39.75+ 0.00

[C=25.16 [ps/c

1
50 100

TP delay [ns]

TVC(cbch) (6, 11 4

- iU 33ze+u9 / 25
E - pO 4367+ 0.0
- p1 -41.73+ 0.00

TP delay [ns]

TVC(cbch) (6, 11 8

1 nuiLus4e+U9 / 25
k. - pO 4337+ 0.0
- pl -40.34 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 11 12

~11uy.pode+u8 / 25
- - po 4349+ 0.0
b pl -39.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,1)

AT 1 nuy.oB1e+U8 / 25
E - po 4318+ 0.0
- pl -38.68 + 0.00

[ C=25.85][ps/c

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 11 5

S nun1Z7e+u9 /25
- - po 4370+ 0.0
- p1 42,67+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 11

~ 1 nuiL130e+U9 / 25
k. - pO 4371% 0.0
- pl -39.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 11 13)

T 1 nuy. so4e+U8 / 25
k. - pO 4339+ 0.0
b pl -38.86 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (6, 11 2)

T zoze+U9 / 25
E - pO 4412+ 0.0
[ = pl -41.14 + 0.00

TP delay [ns]

TVC(chh) (6, 11 6

S nun 1 7ze+09 /25
. - pO 4363+ 0.0
= p1 -42.17 + 0.00

TP delay [ns]

TVC(e,b,eh)=(6, 11, 10

T Lu/e+u9/25
= - po 4379+ 0.0
[ = pl -40.14 + 0.00

TP delay [ns]

TVC(c,b Ch) (6,11, 14

X~ 11y bgoe+U8 / 25
E. - po 4372+ 0.0
[ " pl -40.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,11,3)

A~ 11 /4e+09 / 25
£ - PO 4387+ 0.0
- pl -41.73+ 0.00

TP delay [ns]

TVC(CbCh) (6, 11 7

1 nuiLUele+u9 / 25
. - pO 4351+ 0.0
- p1 -40.85 + 0.00

TP delay [ns]

TVC(Deh)=(6, 11, 11

"1 nuy.y4/e+u8 /25
E. - pO 4362+ 0.0
- pL -40.12+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 11 15)

T onan g uze+u9 /25
k. - pO 4384+ 0.0
- pl -40.02 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 12 0)

TrnuLzsie+U9 /25
:- - pO 4337+ 0.0
- p1 -39.48 + 0.00

[ C=25.33[ps/c

1
50 100

TP delay [ns]

TVC(cbch) (6,124

- i zz3e+u9 / 25
E. - pO 4381% 0.0
- p1 42,85+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 8

T i 144e+09 / 25
k.. - PD 4340+ 0.0
" pl -39.99+ 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

T 1nuy, r03e+U8 / 25
= - po 4318+ 0.0
- p1 -38.9+ 0.0

TP delay [ns]

TVC(chh) (6,12,1)

4000 =
b

3000

2000

1000

A Uo7 re+u9 /25
- - po 4308+ 0.0
- pl -38.04 £ 0.00

TP delay [ns]

TVC(cbch) (6,125

4000 =

3000

2000

1000

=1 nui Zlee+u9 / 25
3 - pO 4385+ 0.0
"~ p1 ~42.11% 0.00

TP delay [ns]

TVC(ebeh)=(6, 12,9

4000

3000

2000

1000

~ 1 nuy.5Zoe+u8 / 25
- - pO 4314+ 0.0
" pL -39.18 + 0.00

TP delay [ns]

TVC(cbch) (612,13

4000 =

3000

2000

1000

Tinuy. so1e+u8 /25
k.o - pO 4311+ 0.0
b pl -39.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,12,2)

- C = 26.05 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (6.12,6

=1 nurLusge+u9 / 25
= - pO 4353+ 0.0
[T p1 -41.76 + 0.00

K™ 1 nuiLuyze+u9/ 25
_:- - po 4330+ 0.0
[ "= p1 -38.38 + 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

Trnan1zze+u9 /25
- - DO 4397+ 0.0
I " pl -39.81+ 0.00

TP delay [ns]

TVC(cbch) (6,12, 14

T rnuiLuyle+u9 / 25
_:- - pD 4361+ 0.0
L " pl -38.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,12,3)

AT 1L 1ive+u9 /25
- - po 4343+ 0.0
- pl -40.3 + 0.0

TP delay [ns]

TVC(c, bch) (6,127

- nui 195e+U9 / 25
k. - pO 4419+ 0.0
- p1 -43.67+ 0.00

TP delay [ns]

TVC(cbch) (6,12, 11

-1 nuy.ayYe+u8 / 25

Pees - pO 4363+ 0.0
-

- pl -40.45+ 0.00

TP delay [ns]

TVC(cbch) (612,15

TinuaiLyrse+u9/ 25
E. - pO 4346+ 0.0
b pl -39.05+ 0.00

TP delay [ns]



TVC(CbCh) (6, 13 0)

4000

3000

2000

1000

© i suze+U9 / 25
3 - po 4355 0.0
- pl -42.01+ 0.00

TP delay [ns]

TVC(Cbch) (6, 13 4

4000

3000

2000

1000

-1 104e+09 / 25
E - pO 4309+ 0.0
- p1 -40.51+ 0.00

TP delay [ns]

TVC(cbch) (6, 13 8

4000

3000

2000

1000

T g5 rze+U8 / 25
- - pO 4267+ 0.0
- -38.73+ 0.00

[ C=25.82[ps/c

0

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 13 12

4000

3000

2000

1000

~ 1 uiLgube+U9 / 25
E. - po 4306+ 0.0
- pl -39.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,13,1)

AT 1 nuiLsyve+U9 / 25
3 - po 4398+ 0.0
- pl -42.45+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 13 5

=1 nui z9ye+u9 / 25
3 - pO 4342+ 0.0
- p1 -41.38+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 13

~ i nuy.gole+u8 / 25
= - pO 4340+ 0.0
- p1 -39.79 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 13 13

[ C =25.83[ps/c

Tinai1u/e+u9/ 25
E - pO 4294+ 0.0
- -38.71+ 0.00

L n n n n 1 n
50 100

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,13,2)

A7 1 nuizyoe+U9/ 25
_:- - po 4372+ 0.0
= pl -41.63+ 0.00

3000

TP delay [ns]

TVC(c,b ch) (6, 13 6

- rnuLu4/e+u9 / 25
E. - pO 4282+ 0.0
[ = pl -40.03 + 0.00

TP delay [ns]

TVC(cbch) (6, 13 10

©1nug.430e+08 / 25
= - po 4214+ 0.0
[ =) p1 -36.91+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 13 14

T 1sze+09 / 25
E - pD 4350+ 0.0
| = pl -39.85+ 0.00

- C = 25.10 [ps/c

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,13,3)

AT 1 nuiL1oye+u9 / 25
'- - po 4344+ 0.0
- pl -41.26 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 13 7

S nuanie+u9 /25
= - pO 4329+ 0.0
- p1 -40.58+ 0.00

TP delay [ns]

TVC(cbch) (6, 13 11

T nup,113e+U8 / 25
e - pO 4251+ 0.0
" pl -39.56 + 0.00

TP delay [ns]

TVC(cbch) (6, 13 15

Tinui1ple+u9 /25
F - po 4341% 0.0
- pl -40.18 + 0.00

TP delay [ns]



TVC(CbCh) (6, 14 0)

4000 [+

3000

2000

1000

TonanLire+u9/25
3 - po 43371 0.0
- pl -40.76 + 0.00

TP delay [ns]

TVC(Cbch) (6, 14 4

4000 =

3000

2000

1000

- iU 145e+09 / 25
. - pO 4334+ 0.0
- p1 -40.11 + 0.00

TP delay [ns]

TVC(cbch) (6, 14 8

4000

3000

2000

1000

© L usse+U9 / 25
C - pO 4290+ 0.0
- pl -38.21+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 14 12

4000 =

3000

2000

1000

~1nuy,148e+08 / 25
L - po 4287+ 0.0
b pl -39.29+ 0.00

TP delay [ns]

TVC(chh) (6,14,1)

4000 =
ke

3000

2000

1000

AT rnuiL1z1e+U9 /25
3 - po 4327+ 0.0
- pl -40.25 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 14 5

4000 =

3000

2000

1000

-1 nui 31be+u9 / 25
E. - pO 4387+ 0.0
- p1 -42.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 14

4000

3000

2000

1000

Tinai g/ (e+u8 /25
b - pO 4278+ 0.0
- pl -38.01+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 14 13

4000 =

3000

2000

1000

T inui zo3e+u9 / 25
L - pO 4360+ 0.0
- pl -41.16 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,14,2)

K™ 114,

[T pl

- po

3e+U9 / 25
4339+ 0.0
-40.68 + 0.00

TP delay

TVC(c,b ch) (6,14,6

X 1 15

[ p1

- po

[ns]

be+U9 / 25
4370+ 0.0
-41.83 + 0.00

TP delay

TVC(e.b,ch)=(6, 14, 10

= 1 .y,

S pl

- pO

[ns]

Be+u8 / 25
4322+ 0.0
-38.46 + 0.00

TP delay

TVC(c,b Ch) (6, 14 14

= 1 U,

[ns]

3e+U9 / 25
4322+ 0.0
-40.92 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

A~ 1 nuiLuyze+u9 / 25
k. - po 4351+ 0.0
- pl -40.3+ 0.0

TP delay [ns]

TVC(c,b Ch) (6, 14 7

=i zzze+09 / 25
E. - pO 4394 £ 0.0
- pl -42.13+ 0.00

TP delay [ns]

TVC(e.beh)=(6, 14, 11

-1 nuy.4p3e+U8 / 25
L. - pO 4300+ 0.0
. pl -38.89+ 0.00

TP delay [ns]

TVC(cbch) (6, 14 15

- nai1uve+u9 / 25
L - pO 4326+ 0.0
- pl -40.35 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 15 0)

© i 14ve+09 / 25
=5 - pO 4273+ 0.0
- pl -40.8 + 0.0

TP delay [ns]

TVC(Cbch) (6, 15 4

=1 158e+09 / 25
3 - pO 4302+ 0.0
- p1 -39.15+ 0.00

[ C =25.54 [ps/c

50 10'0
TP delay [ns]

TVC(cbch) (6, 15 8

T i 144e+09 / 25
E - pO 4337+ 0.0
- pl -38.55+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 15 12

TrnuiLzire+U9 /25
L - po 4440+ 0.0
- p1 -42.42 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,15,1)

AT 1 nuiL139e+U9 / 25
= - po 4261+ 0.0
- p1 -39.48 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 15 5

- nuiLurge+u9 / 25
:- - pO 4302+ 0.0
- -38.5+ 0.0

[ C=25.97 [ps/c

50 150
TP delay [ns]

TVC(c,b ch) (6, 15

T nuiL105e+u9 / 25
k. - po 4343+ 0.0
- -38.96 + 0.00

[ C =25.67 [ps/c

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 15 13

T nuiL 1o8e+u9 / 25
3 - pO 4426+ 0.0
- p1 -41.95+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,15,2)

TP delay [ns]

TVC(c,b ch) (6, 15 6

A~ 1L upse+U9 / 25
- - po 4265+ 0.0
F = pl -39.74 + 0.00

3000

rnur 1 1e+09 /25
E - pO 4310+ 0.0
[“w p1 -39.43+ 0.00

- C = 25.36 [pslc

50 10'0
TP delay [ns]

TVC(e,b,ch)=(6, 15, 10

T y.z4e+U8 /25
E. - pO 4347+ 0.0
[ = pl -38.89+ 0.00

1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 15 14

Ty e+U9 /25
E. - pD 4409+ 0.0
[ p1 -41.13 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
Flas

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,15,3)

A7 1 nuiL,169e+U9 / 25
= - po 4307+ 0.0
- pl -40.9 + 0.0

TP delay [ns]

TVC(c,b Ch) (6, 15 7

- rnuiug/e+u9 / 25
4312+ 0.0
-38.2+ 0.0

TP delay [ns]

TVC(e,beh)=(6, 15, 11

-1 nuy.ypye+us / 25
k. - pO 4349+ 0.0
- pl -38.38+ 0.00

TP delay [ns]

TVC(cbch) (6, 15 15

-1 nuiu4ye+u9 / 25
- pO 4403+ 0.0
- p1 -41.54 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0)

- po

X~ 1w uy4e+U9 / 25
4304+ 0.0
-41.14 + 0.00

TP delay [ns]

TVC(cbch) (70,4

- pO
p1

= i 1u4e+09 / 25

4315+ 0.0
-39.17 + 0.00

[ C =25.53[ps/c

1
50 00

TP delay [ns]

TVC(cbch) (7 0,8

1 nuiLguge+U9 / 25
4319+ 0.0
-40.1+ 0.0

TP delay [ns]

TVC(cbch) (7,0,12

1 iuiLuube+U9 / 25
4341+ 0.0
-42.37 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1)

po

AT 1 nuiLzsbe+u9 / 25
4345+ 0.0
p1 -41.63+ 0.00

TVC(c,b ch) (7 0,5

TP delay

[ns]

-1 nui U3ze+u9 / 25
4303+ 0.0
pl -39.59 + 0.00

TVC(c,b ch) (7 0,9

TP delay

[ns]

~ 1 nuiL Ub/e+u9 / 25
4356+ 0.0
p1 -41.29+ 0.00

TP delay

TVC(c,b Ch) (7, O 13

[ns]

T a1 5e+u9 /25
4375+ 0.0
p1 -42.32+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,0,2)

K-z

po

(e+09/25
4337+ 0.0
p1 -41.33+ 0.00

TP delay

TVC(cbch) (7,0,6

1 2oy

- C = 25.30 [ps/c

pD

[ns]

- be+u9 / 25
4341+ 0.0
pl -39.52 + 0.00

50

10‘0
TP delay

TVC(eb,oh)=(7, 0, 10

AT

pO

[ns]

- re+09 /25
4414+ 0.0
pl -42.02 % 0.00

1
100

TP delay

TVC(cbch) (7,0,14

1 28,

pD

[ns]

- ze+U9 / 25
4408+ 0.0
pl -43.64 + 0.00

TP delay

[ns]

TVC(cbch) (7.0,3)

4000 =
k.

3000

2000

1000

pO

pl

T 1z/e+u9/ 25
4362+ 0.0
-41.4 + 0.0

TVC(c,b ch) (7 0,7

TP delay [ns]

4000 =
Pl

3000

2000

1000

pO
pl

-1 nuiUree+u9 / 25
4334+ 0.0
-39.61+ 0.00

TVC(c,b ch) (7, O

TP delay [ns]

4000

3000

2000

1000

pO
pl

T ume+u9 125
4347+ 0.0
-40.48 + 0.00

TP delay [ns]

TVC(c,b ch) (7, O 15

4000
=

3000

2000

1000

T nuiL 1o5e+U9 / 25
4380+ 0.0
-42.32+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,0)

A~ 1 1uoe+U9 / 25
- - po 4291+ 0.0
- pl -40.25+ 0.00

TP delay [ns]

TVC(cbch) (7.1,4

iU 2 9e+u9 / 25
- - pO 4391+ 0.0
- p1 -41.34+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 1,8

T 1nuy.pu/e+u8 / 25
E - pO 4322+ 0.0
- pl -39.81+ 0.00

TP delay [ns]

TVC(Cbch) (7, l 12

1 nus.p44e+08 / 25
k. - po 4296+ 0.0
- pl -39.19+ 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.1,1)

A7 1 nuiL,1o0e+U9 / 25
E - po 4311+ 0.0
- pl -41.22+ 0.00

TP delay [ns]

TVC(c,b ch) (7 1,5

-1 nui 214e+09 / 25
3 - pO 4351+ 0.0
- p1 -40.25 + 0.00

TP delay [ns]

TVCEebeh)=(7, 1,9

- naiU1se+u9 / 25
E - po 4349+ 0.0
- p1 -39,04 £ 0.00

TP delay [ns]

TVC(c,b Ch) (7, l 13

~ 1 naiusze+u9 / 25
k. - pO 4334+ 0.0
- pl -39.99.+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

3000
2000

1000

4000

2000

1000

TVC(cbch) (7,1,2)

A1 zsze+09 /25
E - po 4341 0.0
b= pl -41.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,1,6

- 1nuy 522e+08 [ 25
. - pO 4322+ 0.0
[T p1 -40+ 0.0

3000

TP delay [ns]

TVC(ebeh)=(7, 1, 10

1 nuiLyebe+U9 / 25
k. - po 4369+ 0.0
[ = p1 -37.76 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 1 14

~ i 1se+u9 / 25
= - pD 4348+ 0.0
I ™ pl -40.55 + 0.00

3000

TP delay [ns]

TVC(cbch) (7.1,3)

4000 =

3000

2000

1000

A7 1 nuiL,1obe+U9 / 25
po 4355+ 0.0
p1 41,12+ 0.00

TVC(c,b ch) (7 1,7

1
100

TP delay [ns]

4000
Flas

3000

2000

1000

-1 nun Zo3e+u9 / 25
4412+ 0.0
-41.3+ 0.0

TVC(c,b ch) (7,1,

1(;0
TP delay [ns]

4000

3000

2000

1000

1)
T rnai1z3e+u9 / 25
pO 4403+ 0.0
pl -39.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 1 15

4000

3000

2000

1000

Tinay31e+u8 /25
po 4312+ 0.0
p1 -39.42 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

A1 1sze+09 /25
E - po 4347+ 0.0
- pl -41.19+ 0.00

TP delay [ns]

TVC(cbch) (72,4

- rnuiL1z1e+09 /25
E - pO 4318+ 0.0
- p1 -40.06 + 0.00

TP delay [ns]

TVC(ebeh)=(7,2,8

1 nuiLUebe+U9 / 25
E - pO 4352+ 0.0
- pl -42.32+ 0.00

TP delay [ns]

TVC(cbch) (7,212

T i 14ve+09 / 25
b - po 4363+ 0.0
- pl -41.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,1)

AT rnuiLzr1e+u9 /25
- - po 4352+ 0.0
- pl -41.44 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

1 nur yisye+us / 25
E. - po 4312+ 0.0
- pl -40.63 + 0.00

TP delay [ns]

TVCebeh)=(7,2,9

-1 nuiL Usbe+u9 / 25
k. - pO 4413+ 0.0
- pl -40.84 = 0.00

TP delay [ns]

TVC(c,b Ch) (7, 2 13

Tonuae 1ae+u9/25
. - pO 4347+ 0.0
. pl -40.71+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (7,2,2)

A~ 1 suoe+U9 / 25
= - po 4372+ 0.0
L= pl -41.97 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,2,6

= 1O re+u9 / 25
= - pO 4302+ 0.0
[ p1 -39.02 + 0.00

3000

TP delay [ns]

TVC(c,b, ch) (7, 2 10

T rnuiLuye+U9 / 25
= - po 4401+ 0.0
[ = p1 -41,91+ 0,00

3000

50 100

TP delay [ns]

TVC(cbch) (7,214

T rze+09 /25
. - pD 4374+ 0.0
F " pl -40.56 + 0.00

3000

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.2,3)

Tonun Lzse+u9 /25
E. - pO 4361+ 0.0
- pl -41.17 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

= 1 nui O33e+09 / 25
E. - pO 4333+ 0.0
- pl -40.71+ 0.00

TP delay [ns]

TVC(c,b ch) (7,2,

S me+u9/25
- - pO 4405+ 0.0
- p1 -42.81+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2 15

T nuiusve+u9 / 25
E - po 4344+ 0.0
- p1 -40.22 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0)

A~ Lo/ 1e+U9 /25
- - po 4304+ 0.0
- pl -40.68 + 0.00

TP delay [ns]

TVC(cbch) (7.3,4

- 1L 143e+09 / 25
- - pO 4319+ 0.0
- p1 -40.53 + 0.00

TP delay [ns]

TVC(cbch) (7 3,8

~ i 1ove+U9 / 25
b - pO 4334+ 0.0
- pl -41.19+ 0.00

TP delay [ns]

TVC(Cbch) (7, 3 12

~1uy.20pe+U8 / 25
. - po 4299+ 0.0
b pl -40.72 + 0.00

50 100

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1)

A7 1 nuiL Sooe+u9 / 25
E - po 4388+ 0.0
- pl -43.01+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

-1 nui Zo3e+u9 / 25
E - pO 4362+ 0.0
- p1 -41.78+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

T naiL1/ve+u9 /25
L - pO 4377+ 0.0
- pl -42.07 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 3 13

T inuy.slie+u8 / 25
L - pO 4313+ 0.0
- pl -40.84 + 0.00

TP delay [ns]
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1000

4000

3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (7,3,2)

X~ 1w zoge+U9 / 25
. - po 4366+ 0.0
=, pl -41.6+ 0.0

3000

TP delay [ns]

TVC(cbch) (73,6

- nuiLu11e+u9 / 25
4283+ 0.0
-40.2+ 0.0

TP delay [ns]

TVC(eb,oh)=(7, 3, 10

- i z1ae+u9 / 25
. - po 4384+ 0.0
[ p1 423+ 0.0

3000

0

TP delay [ns]

TVC(cbch) (7.3 14

T 135e+U9 / 25
= - pD 4342+ 0.0
[ = p1 -40.93 + 0.00

3000

TP delay [ns]

TVC(cbch) (7.3,3)

4000 =

3000

2000

1000

A~ 1 i 2uae+u9 / 25
= - PO 4349+ 0.0
- pl -41.58 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

4000 |-

3000

2000

1000

= 1 nui Oyze+u9 / 25
. - pO 4315+ 0.0
- pl -40.01+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

4000 =

3000

2000

1000

T 1sze+u9 125
L. - pO 4381+ 0.0
- pL -41.76 + 0.00

1 1=

TP delay [ns]

TVC(c,b ch) (7, 3 15

4000

3000

2000

1000

T nai zose+u9 / 25
b - pO 4383+ 0.0
- p1 -41.17 + 0.00

PR IR T
50 100

TP delay [ns]
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k.
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,0)

T 14e+09 /25
- - pO 4300 0.0
- pl -40.48 + 0.00

TP delay [ns]

TVC(cbch) (7 4,4

- 11Uy, 480e+U8 / 25
4293+ 0.0
-39.9+ 0.0

TP delay [ns]

TVC(cbch) (7,4,8

© i 110e+u9 / 25
= - pO 4361+ 0.0
- p1 -39.87  0.00

TP delay [ns]

TVC(Cbch) (7, 4 12

~ i 1ve+u9 / 25
L - po 4346+ 0.0
. pl -40.91+ 0.00

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,1)

AT 1 nuiLzsse+u9 / 25
k. - po 4334+ 0.0
- pl -40.19 + 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

=1 nui UBze+u9 / 25
- - pO 4324% 0.0
- p1 -39.85+ 0.00

TP delay [ns]

TVC(c,b ch) (7.4,9

Tonai 11 /e+u9 /25
= - pO 4373+ 0.0
. pl -39.95+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 4 13

-1 nuiL100e+u9 / 25
= - pO 4350+ 0.0
. pl -40.14 + 0.00

TP delay [ns]

4000
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1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (7.4,2)

TonanLzoe+u9 /25
= - pO 4344+ 0.0
L= pl -41.03+ 0.00

3000

TP delay [ns]

TVC(Cbch) (7 4,6

- rnun 1g3e+09 / 25
k. - pO 4368+ 0.0
o= pl -41.76 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(7, 4,10

1 nuig.yoye+u8 / 25

= - po 4327+ 0.0
-

[ = p1 -38.81+ 0.00

3000

TP delay [ns]

TVC(cbch) (7.4,14

T rnuiLu41e+U9 /25
. - pD 4323+ 0.0
[ =) p1 -40.33 + 0.00

3000

TP delay [ns]
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1000

4000

3000

2000

1000

4000
=

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3)

A~ 1 2aae+09 [ 25
- - PO 4348+ 0.0
- pl -40.68+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,7

= nun 1716e+09 / 25
- - pO 4366+ 0.0
- pl -41.84+ 0.00

TP delay [ns]

TVC(c,b ch) (7,4,

1)
Tonaiz/e+u9/ 25
4447 £ 0.0
-40.7 £ 0.0

TP delay [ns]

TVC(c,b ch) (7, 4 15

T nan zzze+u9 /25
- - pO 4394+ 0.0
- pl -42.37 + 0.00

TP delay [ns]
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1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (7,5,0)

A1 r0e+U9 / 25
E - po 4325+ 0.0
- pl -39.82+ 0.00

TP delay [ns]

TVC(cbch) (7,54

=i 1z5e+09 / 25
. - pO 4300+ 0.0
- p1 -38.95+ 0.00

C =25.67 [ps/c

50 10'0
TP delay [ns]

TVC(cbch) (7 5,8

“nuiL1y/e+u9 / 25
L - pO 4342+ 0.0
- pl -41.39+ 0.00

TP delay [ns]

TVC(cbch) (7,5,12

~rnuiLu4se+U9 / 25
k. - po 4356+ 0.0
- p1 -41.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,1)

AT 1 nuiLzzoe+u9 / 25
E - po 4338+ 0.0
- pl -40.2 + 0.0

TP delay [ns]

TVC(c,b ch) (7 55

- nuiL3/e+u9 / 25
E. - pO 4295+ 0.0
- p1 -39.77:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 59

-1 nuiL Usze+u9 / 25
L - pO 4341+ 0.0
- pl -41.62 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 5 13

~ 1 nui zoye+u9 / 25
k. - pO 4394+ 0.0
- pl -41.87 + 0.00

50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (7,5,2)

KA1, 1y

E - po
[ pl

oe+U9 / 25
4352+ 0.0
-40.79 + 0.00

TP delay

TVC(cbch) (7,56

1 QU

- pO

[ns]

- be+U9 / 25
4289+ 0.0
pl -39.11 + 0.00

- C = 25.57 [pslc

50 10'0
TP delay

TVC(eb,oh)=(7, 5, 10

=1 g 15

- pO
[ = pl

[ns]

se+u9 / 25
4367+ 0.0
-41.37 + 0.00

TP delay

TVC(c,b Ch) (7, 5 14

- pD
[ = pl

[ns]

T Luse+u9/ 25
4351+ 0.0
-41.81+ 0.00

TP delay

[ns]

TVC(cbch) (7.5,3)

4000 ¢

3000

2000

1000

AT 1 nuiLUrse+U9 / 25
3 - po 4328+ 0.0
- pl -40.18 + 0.00

TP delay [ns]

TVC(c,b ch) (7 57

4000 =

3000

2000

1000

= nun 1716e+09 / 25
E. - pO 4339+ 0.0
- p1 -39.97 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

4000 =

3000

2000

1000

T nuy, //ue+u8/25
- - pO 4345+ 0.0
- pL -40.75+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5 15

4000

3000

2000

1000

Tonai 1/ /e+u9/ 25
= - pO 4355+ 0.0
- pl -40.69 + 0.00

TP delay [ns]
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1000
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2000

1000

TVC(cbch) (7,6,0

A~ 11 osbe+U9 / 25
3 - po 4452+ 0.0
- pl -42.85+ 0.00

TP delay [ns]

TVC(cbch) (7.6,4

= 1 3o9e+U9 / 25
E. - pO 4381+ 0.0
- p1 -40.74+ 0.00

TP delay [ns]

TVC(cbch) (7 6,8

T i zoze+09 / 25
E - pO 4346+ 0.0
- pl -38.99+ 0.00

TP delay [ns]

TVC(cbch) (7,6,12

~ i 1spe+U9 / 25
k. - po 4329+ 0.0
- pl -36.92+ 0.00

TP delay [ns]
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1000

4000

3000
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1000

4000

3000

2000

1000

TVC(cbch) (76,1

A~ 1L 6ase+U9 / 25
;. - po 4454+ 0.0
- pl -42.49 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5
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